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Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted Physically in prescribed format of suggestion sheet. 
(2) Question wise suggestion to be submitted in the prescribed format of Suggestion Sheet 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key, published herewith on the website. Objections should be sent 
referring to the Question, Question No. & options of the Master Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet /response sheet. Objections shall not be 
considered, in case, if responses given in the answer sheet /response sheet and submitted 
suggestions are differed. For the purpose, the candidate shall attach a copy of his 
answersheet/ Response sheet along with his application(s). 

(6) Objection for each question shall be made on separate Suggestion sheet. Objection for more 
than one question in single Suggestion sheet shall not be considered & treated as cancelled. 

ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વબેસાઈટ પર Ԑિસիધ થયેલ િનયત વાધંા-સચૂન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.

(3) ઉમેદવાર ેપોતાને પરીԟામાં મળેલ ԐՇપિુչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વબેસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેત ેસંદભӪમાં

રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અન ેિવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 

(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અને િવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવલે જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ

કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં  આ હેત ુમાટે, ઉમેદવાર ેપોતાની અરӾ(ઓ) સાથ ેપોતાની જવાબવહીની 

એક નકલનુ ંિબડાણ કરવાનું રહેશે. 

(6) એક ԐՇ માટે એક જ વાંધા-સચૂન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે

હશ ેતો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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PART – A

001.	 Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. yk MkºkÃk (Satrap) Lkk rMk¬k yu ®Mkn {qze (Lion Capital) Úke fkuíkhu÷k níkk.

	 2. rMk¬kyku{kt ¼q{fkLkku ûkfhíkk (Kshakarata) ûkºkÃk (Kshatrapa) íkhefu Ãký WÕ÷u¾ fÞkuo Au.

	 3. ¼q{fk yu «Úk{ òýeíkk MkºkÃk (Satrap) níkk su{ýu Mkkihk»xÙ WÃkh hkßÞ fÞwO níkwt.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1 yLku 2

002.	 þiððkËLkk ÃkkþwÃkík Mkt«ËkÞ rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ LkÚke ?

	 1. �yk Mkt«ËkÞ, yu «Úk{ MkËeLke þYykík{kt yÂMíkíð{kt hnu÷k MkkiÚke sqLkk Mkt«ËkÞku {ktLkku yuf yLku yøkúýe þiððkËe 
þk¤k (Shaivite School) níkku.

	 2. ÃkkþwÃkík þiððkËLkku WËT¼ð yu Mkkihk»xÙ{kt fkÞkðhkuný ¾kíku ÚkÞu÷ níkku.

	 3. yk Mkt«ËkÞ yu fk~{eh{kt ÃkkÞh (Payar) yLku Ãkqðo{kt ykurhMMkk MkwÄe rðMíkhu÷ku níkku.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 2		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 3		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

003.	 ÄtËwMkh (Dhandusar) rþ÷k÷u¾ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) yk rþ÷k÷u¾ «kf]ík ¼k»kk{kt ÷¾kÞku níkku.

	 (B) yk rþ÷k÷u¾ yu ÞkËð [wzkMk{k ðtþLkk hkò {kuf÷ ®MknLke {kr÷feLkku Au.

	 (C) (A) íkÚkk (B) çktLku

	 (D) (A) yLku (B) yuf Ãký Lk®n

004.	 rçkúrxþ Mk{Þøkk¤k ËhBÞkLkLke ríkLkfkXeÞk ÃkØrík çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. ríkLkfkXeÞk ÃkØrík yu Mkki«Úk{ {ÿkMk «Ëuþ{kt yÂMíkíð{kt ykðe.

	 2. ríkLkfkXeÞk ÃkØrík yux÷u 20 ðe½k s{eLk{ktÚke 3 fkXk (ðe½k) yu øk¤eLkk Ãkkf {kxu Wøkkzðe.

	 3. �økktÄe yLku hksuLÿ«MkkËLke {ËËÚke rçknkhLkk ¾uzqíkku yu MkíÞkøkúnLkwt ykÞkusLk fÞwO yLku ríkLkfkXeÞk ÃkØrík LkkçkqË 
fhkðe.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3	 (B) {kºk 1 yLku 3	 (C) {kºk 2 yLku 3	 (D) {kºk 1 yLku 2

005.	 ðktfkLkuhLkk hýSíkrð÷kMk {nu÷ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 (A) íku{kt {wÄ÷ økwtçks MkkÚku økkurÚkf f{kLkku yLku òsh{kLk ½zeÞk¤ xkðh ykðu÷ Au.

	 (B) íku 1907 {kt {nkhkò y{h®MknS îkhk íkiÞkh fhkððk{kt ykÔÞku níkku.

	 (C) (A) íkÚkk (B) çktLku

	 (D) (A) yLku (B) yuf Ãký Lk®n
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006.	 rÃk÷kShkð økkÞfðkz çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. økwshkíkLkk «Ëuþku{ktÚke {nuMkq÷ W½hkððk {kxu «Úk{ íku{Lke rLk{ýqtf Ãkuïk îkhk fhðk{kt ykðe níke.

	 2. rÃk÷kS hkð Ãkkuíku MkkuLkøkZLkk rfÕ÷k{kt MÚkkÞe ÚkÞk.

	 3. rÃk÷kS hkðu sqLkkøkZLkk økðLkoh YMík{ y÷e ¾kLkLku ÃkhkSík fÞko níkk.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 2	 (B) 1, 2 yLku 3	 (C) {kºk 2 yLku 3	 (D) {kºk 1 yLku 3

007.	 Lke[uLkk Ãkife fÞwt Þwø{ yu ÞkuøÞ heíku òuzkÞu÷wt LkÚke ?

	 (A) çkk÷kðçkkuÄ (Balavabodha) – íkYý«¼k (Tarunaprabha)

	 (B) ðMktík rð÷kMk (Vasant Vilasa) – økwýðtík (Gunvanta)

	 (C) fwMkw{{k÷k (Kusumamala) – LkkLkk÷k÷ Ë÷Ãkíkhk{

	 (D) MkhMðíke[tÿ – økkuðÄoLkhk{ rºkÃkkXe

008.	 1775 Lke MkwhíkLke MktrÄ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. yk fhkh h½wLkkÚk hkð yLku rçkúxeþhku ðå[u ÚkÞk.

	 2. yk MktrÄ yLkwMkkh, h½wLkkÚkk hkðu Mkk÷Mkuxu (Salsette) yLku çkMkuLk (Bassein) Lkk «Ëuþku rçkúrxþhkuLku MkwÃkhík fÞko.

	 3. f÷f¥kk ¾kíkuLkk Ãkrh»kË (Council) Lkk økðLkoh sLkh÷ yu yk MktrÄLku {tsqh hk¾e Lk®n yLku íkuLku y{kLÞ økýkðe.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 2 yLku 3	 (B) {kºk 1 yLku 2	 (C) {kºk 1 yLku 3	 (D) 1, 2 yLku 3

009.	 siLk ÷½wr[ºk ÃkuRLxªøk (Miniature Paintings) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. ÃkkuíkkLke hksÄkLke Ãkkxý ¾kíku 21 {XLkk økútÚkk÷ÞLke (¼tzkh) MÚkkÃkLkk fhðk{kt fw{khÃkk¤ rLkr{¥k níkk.

	 2. �¼khíkLkk MkkiÚke «k[eLk ÷½wr[ºk ÃkuRLxªøk (Miniature Paintings) yu 11 {e MkËeLkk ‘fÕÃkMkqºk’ yLku ‘fk÷fk[kÞo 
fÚkk’Lkk siLk r[ºkku Au.

	 3. siLk ÷½wr[ºk ÃkuRLxªøk (Miniature Paintings) yu {kºk MkVuË yLku fk¤k htøkLkku WÃkÞkuøk fhíkk níkk.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 2 yLku 3	 (B) {kºk 1 yLku 2	 (C) {kºk 1 yLku 3	 (D) 1, 2 yLku 3

010.	 Lke[u ykÃku÷k hsðkzkykuLku íku{Lkk hkòykuLkk Lkk{ MkkÚku ÞkuøÞ heíku òuzku.

	   A	     B

	 a. ÷ªçkze	 i. økku®ðËhkð

	 b. ÃkkuhçktËh	 ii. Lkxðh ®Mkn

	 c. økkUz÷	 iii. sþðtík ®Mkn

	 d. ðzkuËhk	 iv. ¼økðík ®Mkn

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) a - ii, b - iii, c - i, d - iv	 (B) a - ii, b - i, c - iv, d - iii
	 (C) a - i, b - iv, c - iii, d - ii	 (D) a - iii, b - ii, c - iv, d - i
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011.	� {w½÷ hksfw{kh (Mughal Prince) Ëkhk rMkfkun yu WÃkrLk»kËkuLku .......... þe»kof nuX¤ VkhMke (Persian) {kt yLkwðkË 
fhkÔÞk.

	 (A) {s{k-W÷-çknheLk (Majma-ul-Bahrain)

	 (B) ðknkËkík-W÷-ðwswË (Wahadat-ul-Wujud)

	 (C) Mkeh-yu-yfçkh (Sirr-e-Akbar)

	 (D) MkwVeLkík-W÷-ykur÷Þk (Safinat-ul-Auliya)

012.	 ÷kuzo ðu÷uM÷eyu yÃkLkkðu÷e ‘MknkÞfkhe ÞkusLkk’ rðþu Lke[uLkk{ktÚke fÞwt rðÄkLk MkíÞ LkÚke ?

	 (A) �MknkÞf ¼khíkeÞ hkßÞLkk þkMkfLku ÃkkuíkkLkk hkßÞûkuºk{kt rçkúxeþ Ë¤Lkk fkÞ{e MÚkkLkfLku Mðefkhðk yLku íkuLkk 
rLk¼kð {kxu ¾[o ykÃkðk Vhs Ãkkze.

	 (B) þkMkfLkk Ëhçkkh{kt rçkúxeþ LkkøkrhfLke rLk{ýqtf fhðk{kt ykðu.

	 (C) rçkúxeþhku yu þkMkfLku çkúkÌk ¼Þ Mkk{u hûký ykÃkþu.

	 (D) WÃkhLkk Ãkife yuf Ãký Lk®n

013.	 Lke[uLkk Ãkife fE MktMÚkk/MktMÚkkyku {nkí{k økktÄe îkhk MÚkkÃkðk{kt ykðe ?

	 1. økúk{ Wãkuøk Mkt½

	 2. íkk÷e{e Mkt½

	 3. økki Mkwhûkk {tz¤

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3		  (B) {kºk 1 yLku 2

	 (C) {kºk 2 yLku 3		  (D) {kºk 1 yLku 3

014.	 Lke[uLkk rðÄkLkku Ãkife fÞk rðÄkLkku MkíÞ LkÚke ?

	 1. 8{e MkËe{kt Míkt¼íkeÚko Mkku{LkkÚk yktíkhhk»xÙeÞ çktËh íkhefu rðfMÞwt níkwt.

	 2. {nkLk ûkºkÃk YÿËk{Lku MknMºk®÷øk ík¤kðLkku SýkuoØkh fhkÔÞku.

	 3. [eLke {wMkkVh ÌkwyuLk ïktøku ð÷¼e rðãkÃkeXLke {w÷kfkík ÷eÄe níke.

	 4. rðÄkLk ðkø¼èLku hkò rMkØhks sÞ®Mknyu hkßÞk©Þ ykÃÞku níkku.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 3		  (B) {kºk 1 y™u 2

	 (C) {kºk 1, 2 y™u 3		  (D) {kºk 2, 3 y™u 4

015.	 1893 {kt .......... Lkk {wÆk Ãkh ykÞo Mk{ks{kt ¼køk÷k Ãkzâk.

	 (A) yLÞ Ä{oLkk ÷kufkuLku ®nËw Ä{o{kt YÃkktíkheík fhðk.

	 (B) rðÄðk ÃkwLk÷oøLkLke ðirËf Ãkrðºkíkk yLku íkuLkku Mkk{kSf Ëhßòu

	 (C) ykÞo Mk{ksLkk rð[khkuLkk «[khkuLkwt {kæÞ{

	 (D) WÃkhLkk Ãkife yuf Ãký Lk®n
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016.	 Lke[u ykÃku÷k Þwø{kuLku ÞkuøÞ heíku òuzku.

	     A	     B

	 a. ðuýe¼kE r{÷	 i. ÃkkuhçktËh

	 b. ykÞLkk {nu÷	 ii. {kuhçke

	 c. Ãkhþwhk{ ÃkkuxheÍ	 iii. ¼qs

	 d. {nkhkýk r{÷	 iv. ¼kðLkøkh

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) a - i, b - ii, c - iv, d - iii	 (B) a - iii, b - i, c - ii, d - iv
	 (C) a - iv, b - iii, c - ii, d - i	 (D) a - i, b - iv, c - iii, d - ii

017.	� 1935Lkk ¼khík MkhfkhLkk yrÄrLkÞ{ îkhk MÚkkrÃkík Mkt½{kt ytíkøkoík Mk¥kkyku (residuary power) yu .......... Lku 
ykÃkðk{kt ykðe.

	 (A) Mkt½ rðÄkLkMk¼k		  (B) økðLkoh sLkh÷

	 (C) «ktríkf rðÄkLkMk¼k		  (D) «ktríkf økðLkoh

018.	 økwshkíkLkk MktøkeíkLk]íÞ çkkçkíku Lke[u ykÃku÷k rðÄkLkku Ãkife fÞk rðÄkLkku MkíÞ Au ?

	 1. rxÃÃkýe Lk]íÞ yu zktøkLkk ykrËðkMke ûkuºk{kt WËT¼ðu÷wt Au.

	 2. ÃkXkhLk]íÞ yu ¼k÷Lkk Lk¤Mkhkuðh ûkuºkLkk {kAe{khkuLkwt Mk{wnøkkLk Au.

	 3. økuçke Lk]íÞ yu Mºkeyku îkhk ¼Âõíkøkeík MkkÚku ÄkŠ{f «Mktøkkuyu fhkíkwt Lk]íÞ Au.

	 4. ¼ðkE yu Mkk{kSf «&™kuLku ÔÞtøkkí{f heíku hsq fhu Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 2 yLku 3		  (B) {kºk 2, 3 y™u 4

	 (C) {kºk 1 y™u 2		  (D) {kºk 1, 3 y™u 4

019.	 1537{kt ÃkkuxwoøkeÍkuyu økwshkíkLkk Mkkihk»xÙ rfLkkhu .......... çktËh sÃík fhe ÷eÄwt

	 (A) Ëeð		  (B) ¾t¼kík

	 (C) ¼Y[		  (D) hktËuh

020.	 Lke[u MkkrníÞf]ríkLku íku{Lkk MkkrníÞfkhku MkkÚku òuzu÷e Au. yk Þwø{ Ãkife fÞkt Þwø{ Mkk[kt Au ?

	     A	     B

	 1. {kLkðeLke ¼ðkE	 ÃkLLkk÷k÷ Ãkxu÷

	 2. [nuhk	 çkfw÷ {nuíkk

	 3. ¼ÿt¼ÿ	 hk. rð. ÃkkXf

	 4. r{ÚÞkr¼{kLk	 Ë÷Ãkíkhk{

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 2		  (B) {kºk 2 y™u 4

	 (C) {kºk 1 y™u 4		  (D) {kºk 1, 2 y™u 3
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021.	 Äh{kík (Dharmat) Lkwt ÞwØ .......... ðå[u ÷zkÞwt.

	 (A) {kunt{Ë Äkuhe yLku sÞ[tË

	 (B) ykihtøkÍuçk yLku Ëkhk rMkfkun

	 (C) çkkçkh yLku yV½kLkku

	 (D) yn{Ëþkn Ëwhkne yLku {hkXkyku

022.	 ÷¾Lkki fhkh çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ LkÚke ?

	 (A) íkuLkk îkhk fkUøkúuMk yLku {wM÷e{ ÷eøk ðå[u yufíkk ykðe.

	 (B) yk fhkh{kt Mkne fhðk{kt rík÷f yLku Íeýk çktLku yu {n¥ðLke ¼qr{fk ¼sðe.

	 (C) (A) íkÚkk (B) çktLku

	 (D) (A) yLku (B) yuf Ãký Lk®n

023.	� [ku÷ hkò fu su{ýu çktøkk¤ yLku ykurhMMkkLkk þkMkfkuLku nhkÔÞk níkk yLku Mk{økú ©e÷tfk fçksu fhe ÷eÄwt níkwt yLku Ërûký 

Ãkqðo yurþÞkLkk «Ëuþku Síke ÷eÄk níkk íku .......... níkk.

	 (A) Ãkhktíkf		  (B) hkshks

	 (C) Ãkw÷fuþe - Ãknu÷ku		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

024.	 «k[eLk ¼khíkeÞ ¾økku¤þkMºke ykÞo¼è rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. íkuýu ykÞo¼èeÞ ÷ÏÞwt.

	 2. íkuýu ykÞo¼è rMkØktík ÷ÏÞwt.

	 3. íkuýu økúnýLke ði¿kkrLkf Mk{sqíke ykÃke.

	 4. íkuýu þkuÄe fkZâwt fu Ãk]Úðe íkuLke ÄheLke ykMkÃkkMk Ãkrh¼ú{ý fhu Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 3		  (B) {kºk 1, 2 yLku 3

	 (C) {kºk 2, 3 yLku 4		  (D) 1, 2, 3 yLku 4

025.	 1935 Lkk ¼khík MkhfkhLkk yrÄrLkÞ{u Lke[uLkk Ãkife fkuLke MÚkkÃkLkkLke òuøkðkE fhe ?

	 1. yku÷ ELzeÞk VuzhuþLk

	 2. «ktíkku{kt rî{w¾e hkßÞ ÃkØrík

	 3. MkuLxÙ÷ çkUf ykpV ELzeÞk

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1		  (B) {kºk 1 yLku 3

	 (C) {kºk 2 yLku 3		  (D) 1, 2 yLku 3
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026.	 Headline inflation (nuz÷kELk Vwøkkðk) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. �¼khík{kt nuz÷kELk Vwøkkðku yu WÃk¼kuõíkk ¼kð Mkq[fktf (Consumer Price Index), (MktÞwõík) (Combined) 
îkhk {kÃkðk{kt ykðu Au.

	 2. íku ÃkkuELx xw ÃkkuELx Vwøkkðk íkhefu Ãký yku¤¾kÞ Au.

	 3. íku yíÞtík yÂMÚkh (Volatile) ¾kã yLku çk¤íký ½xfkuLkku Mk{kðuþ fhíkk LkÚke.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 3		  (B) {kºk 1 yLku 3

	 (C) {kºk 1 yLku 2		  (D) 1, 2 yLku 3

027.	 ykŠÚkf Mkðuoûký 2019-20 çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. Mkðuoûký yLkwMkkh þkfknkhe Úkk¤eLke Ãkhðzíkk ûk{íkk{kt 2006-07 Úke 2019-20 ËhBÞkLk 29% Lkku MkwÄkhku ÚkÞku Au.

	 2. Mkðuo yLkwMkkh ÷k¾ku økúk{eý Ãkrhðkh {kxu ÃkþwÄLk ykðf yu ykðfLkku {n¥ðLkku økkiý Mºkkuík çkLku÷ Au.

	 3. �ÃkþwÄLk ûkuºk yu AuÕ÷k Ãkkt[ ð»ko{kt 17.9 «ríkþíkLkk MktÞwõík ðkŠ»kf ð]rØËh (Compound Annual Growth Rate) 
(CAGR) ð]rØ Ãkk{e hÌkwt Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 3		  (D) {kºk 1 yLku 2

028.	� íkksuíkhLkk çksux yLkwMkkh çkUf ÚkkÃký ðe{k hûký (Bank deposit insurance cover) yu «íÞuf ÚkkÃkýËkhu  
Yk. .......... Úke ðÄkhe Yk. 5 ÷k¾ fhðk{kt ykÔÞwt Au.

	 (A) 2 ÷k¾		  (B) 1 ÷k¾

	 (C) 3 ÷k¾		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

029.	 Ÿ[k ËhLke çk[ík yLku {qze rLk{koý nkuðk Aíkkt ¼khík{kt Lke[k ð]rØ ËhLkwt {wÏÞ fkhý .......... Au.

	 (A) Ÿ[ku {qze/ WíÃkkËLk økwýku¥kh	 (B) hkufkýLkku Lke[ku Ëh

	 (C) rðËuþe hkufkýLkku Lke[ku Ëh	 (D) Lke[ku {qze/WíÃkkËLk økwýku¥kh

030.	 ¼khíkLkk yÚkoíktºk çkkçkíku Lke[u ykÃku÷ Set-I Lku Set-II MkkÚku òuzku.

	  Set-I		  Set-II

	 a. ykŠÚkf ð]rØ		  i. WPI

	 b. Lkkýkt sqÚÚkku (Money Stock)	 ii. GVA

	 c. þuh ¼kð		  iii. MZ

	 d. Vwøkkðku		  iv. SENSEX

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) a - i, b - iii, c - ii, d - iv	 (B) a - ii, b - iii, c - iv, d - i
	 (C) a - iv, b - ii, c - iii, d - i	 (D) a - iii, b - ii, c - iv, d - i
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031.	� .......... Ãkrh{ký {wsçk fkuE ÔÞÂõíkyu yXðkzeÞkLkk yuf rËðMk {kxu Ãký hkusøkkhe {u¤ðu íkku íku, íku yXðkzeÞk {kxu 
hkusøkkh «kÃík fhu÷ ÔÞÂõík økýkÞ.

	 (A) ðíko{kLk yXðkzef ÂMÚkrík (Current weekly status)

	 (B) Mkk{kLÞ ÂMÚkrík (Usual status)

	 (C) ðíko{kLk ËirLkf ÂMÚkík (Current daily status)

	 (D) ðíko{kLk ðkŠ»kf ÂMÚkrík (Current yearly status)

032.	 FRBM yrÄrLkÞ{ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. «íÞuf LkkýktfeÞ ð»koLkk ytíku Mkhfkhu GDP Lkk 0.5 «ríkþík fu íkuÚke ðÄw hf{Lke {nuMkq÷e ¾kã ykuAe fhðe òuEyu.

	 2. {k[o 31, 2019 Úke Ãkqhk Úkíkk Ãkkt[ ð»ko{kt {nuMkq÷e ¾kã þqLÞ fhðe òuEyu.

	 3. �Mkhfkhu «íÞuf LkkýktfeÞ ð»koLkk ytíku fw÷ hksfku»keÞ ¾kã yu GDP Lkk 3.3% fu íkuÚke ðÄw hf{ sux÷e ½xkzðe 
òuEyu.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 3		  (D) {kºk 1 yLku 2

033.	 økwshkík rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. økwshkík Mkhfkh {wsçk VwøkkðkLkku Ëh (CPI Combined) 4.15% Au.

	 2. rðãkÚkeoykuLkku yÇÞkMk Akuze ËuðkLkku Ëh (zÙkuÃk ykWx Ëh) (1 Úke 5 Äkuhý{kt) 1.42% Au.

	 3. GSDP Lke LkkýkfeÞ ¾kãyu 11.66% Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 3		  (D) {kºk 1 yLku 2

034.	 økwshkík{kt íkk÷wfkykuLke MktÏÞk .......... Au.
	 (A) 225		  (B) 234

	 (C) 242		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

035.	 ykðfðuhk{kt fÃkkík ytøku Lke[uLkk Ãkife fE òuze Mkk[e heíku òuzkÞu÷e Au ?

	 1. 80C - ÔÞÂõíkøkík fu HUFs {kxu fÃkkík WÃk÷çÄ Au.

	 2. 80CCC - LIC Lke fkuE Ãký ðkŠ»kf ÞkusLkk{kt [qfðu÷ yÚkðk hkufký fhu÷ hf{ Ãkh WÃk÷çÄ fÃkkík

	 3. 80GG - çk[ík ¾kíkk ÃkhLkk ÔÞks Ãkh WÃk÷çÄ fÃkkík

	 4. 80EE - þiûkrýf ÷kuLkLkk ÔÞks Ãkh WÃk÷çÄ fÃkkík

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 2		  (B) {kºk 3 yLku 4

	 (C) 1, 2, 3 yLku 4		  (D) {kºk 2, 3 yLku 4
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036.	� ÷uýËuýLke íkw÷k (Balance of payments) Lkk MktË¼o{kt Lke[uLkk Ãkife fE çkkçkík/fE çkkçkíkku yu [k÷w ¾kíkkLke  
h[Lkk fhu Au?

	 1. Trade Balance (ÔÞkÃkkh Mktíkw÷Lk)

	 2. Foreign Assets (rðËuþe MktÃkr¥k)

	 3. Balance of Invisibles (yá~Þ Mktíkw÷Lk)

	 4. Special drawing rights in the IMF (IMF {kt rðrþü WÃkkz nfku)

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2, 3 yLku 4		  (B) {kºk 1 yLku 3

	 (C) {kºk 2, 3 yLku 4		  (D) {kºk 1, 2 yLku 4

037.	 MkwÄkhýkLkk Þwøk{kt Lke[uLkk Ãkife fÞk ËMíkkðuòuyu f]r»kLku Mk¥kkðkh heíku Wãkuøk íkhefu ½kur»kík fÞkuo Au ?

	 (A) LkuþLk÷ yuøkúefÕ[h ELMÞkuhLMk Mfe{, 1999

	 (B) Aawt ykÞkusLk Ãkt[

	 (C) LkuþLk÷ yuøkúefÕ[h Ãkku÷eMke, 2000

	 (D) fh MkwÄkhýk ykÞkuøk, 2000

038.	� UNDP îkhk «fkrþík xfkW ð]rØ hUfªøk{kt rþü fkÞo yLku ykŠÚkf ð]rØLke ©uýe{kt ¼khíkLkwt .......... hkßÞ xku[Lkk  
¢{u ykðu÷ Au.

	 (A) økwshkík		  (B) {nkhk»xÙ

	 (C) íku÷tøkkýk		  (D) fýkoxf

039.	 «ÄkLk{tºke ykðkMk ÞkusLkk (PMAY) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. íku ¼khík Mkhfkh îkhk ð»ko 2025 MkwÄe{kt ík{k{Lku hnuXký Ãkqhe ÃkkzðkLke Ãknu÷ Au.

	 2. �«ÄkLk{tºke ykðkMk ÞkusLkk (Urban) (PMAY - U) yu Ministry of Housing and Urban Affairs îkhk 
[÷kððk{kt ykðu Au.

	 3. «ÄkLk{tºke ykðkMk ÞkusLkk (økúk{eý yÚkðk PMAY-R) yu Ãkt[kÞík hks {tºkk÷Þ îkhk [÷kððk{kt ykðu Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3		  (B) {kºk 2

	 (C) {kºk 1 yLku 3		  (D) {kºk 2 yLku 3

040.	� íkksuíkh{kt NITI ykÞkuøk îkhk çknkh Ãkkzðk{kt ykðu÷k Aspirational district performance ({níðkfktûke 
rsÕ÷k fk{økehe) hUfªøk{kt Lke[uLkk Ãkife fÞk SÕ÷kyu xku[Lkwt MÚkkLk «kÃík fhu÷ Au ?

	 (A) ËknkuË, økwshkík		  (B) rLkÍk{kçkkË, íku÷tøkkýk

	 (C) ríkYLku÷ðu÷e, íkr{÷Lkkzw		  (D) [ktËku÷e, W¥kh«Ëuþ

041.	 [¢ðkíkÚke yMkhøkúMík .......... Lku {ËËYÃk Úkðk ¼khíkeÞ LkkiMkuLkk yu ykuÃkhuþLk ðuLke÷k þY fÞwO níkwt.

	 (A) {kzkøkkMfh (Madagascar)	 (B) fuLÞk (Kenya)
	 (C) Djibouti		  (D) Papua New Guinea
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042.	� íkksuíkh{kt ¼khíkLkk ðÄw 10 s÷ Ã÷krðík ûkuºkku (Wetlands) hk{Mkkh (Ramsar) MÚk¤ku íkhefu ½kur»kík fhðk{kt  
ykÔÞk Au. yk ÞkËe{kt Lke[uLkk Ãkife fÞwt MÚk¤ Mk{krðü fhu÷ Au ?

	 1. LktËwh {kÄ{uïh (Nandur Madhameshwar)

	 2. Lkktøk÷ (Nangal)

	 3. Ãkkðoíke ykøkúk (Parvati Agra)

	 4. Mk{MkÃkwh (Samaspur)

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1, 2 yLku 3		  (B) {kºk 1, 3 yLku 4

	 (C) 1, 2, 3 yLku 4		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

043.	 �¼khíkLke ¼kðLkk (Spirit of India) Lku Wsððk {kxu 26 Úke 31 òLÞwykhe, 2020 ËhBÞkLk ¼khík Ãkðo 2020 Lke 
Wsðýe fhðk{kt ykðe íkuLkwt rð»kÞðMíkw (Theme) .......... Au.

	 (A) yuf ¼khík ©uc ¼khík		  (B) {nkLk ¼khík yLku {nkuLLkÚk ¼khík

	 (C) MðåA ¼khík yLku ©uc ¼khík	 (D) WÃkhLkk Ãkife yuf Ãký Lk®n

044.	� First GangaVolga Dialogue of Civilizations 2020 (2020Lke MktMf]ríkLkk «Úk{ øktøkk ðkuÕøkk MktðkË) yu rËÕne 
¾kíku ÞkuòE økÞku. yk MktðkË yu ¼khík yLku .......... ðå[u Au.

	 (A) s{oLke	 (B) WÍçkurfMíkkLk	 (C) EÍhkE÷	 (D) hrþÞk

045.	� INS Kavaratti (INS fuðh¥ke) yu ¼khíkeÞ Lkki MkuLkkLku ÃknkU[kzðk {kxu íkiÞkh fhkE Au. yk Mkçk{heLk .......... 
ytíkøkoík íkiÞkh fhðk{kt ykðe Au.

	 (A) Project P75		  (B) Project P28
	 (C) Project P56		  (D) Project P100

046.	� ð»ko 2018-19 {kxuLkk çkkøkkÞík WíÃkkËLkLkk hkßÞðkh zuxk f]r»k yLku ¾uzqík fÕÞký {tºkk÷Þ îkhk «fkrþík fhðk{kt 
ykðu÷ Au íku{kt þkf¼kS yLku V¤kuLke fûkk{kt Lke[uLkk Ãkife fÞk hkßÞyu xku[Lkwt MÚkkLk «kÃík fhu÷ Au ?

	 (A) Ãkrù{ çktøkk¤ yLku yktÄú«Ëuþ	 (B) fuh¤ yLku fýkoxf

	 (C) íkr{÷Lkkzw yLku ykurhMMkk	 (D) ykurhMMkk yLku nrhÞkýk

047.	� ¼khík yLku çkktø÷kËuþ yu ykþwøkts - y¾kuhk «kusuõx (Ashuganj-Akhaura Project) Lku MkwÄkhðk (Upgrade) 
{kxuLkk fhkh WÃkh nMíkkûkh fhu÷ Au. yk «kusuõx .......... MkkÚku MktçktrÄík Au.

	 (A) ÃkuxÙku÷ ÃkkEÃk÷kELk		  (B) økuMk ÃkkEÃk÷kELk

	 (C) hkuz «kusuõx		  (D) s¤ Lknuh

048.	� Transparency International îkhk «fkrþík fhðk{kt ykðu÷ Corruption Perception Index 2019{kt ¼khík 
.......... {kt ¢{u ykðu÷ Au.

	 (A) 70	 (B) 80	 (C) 90	 (D) 101

049.	 World Economic Forum yLkwMkkh rðïLkk GDP Lke .......... hf{ yu «f]rík Ãkh ykÄkrhík Au.
	 (A) 20 trillion dollars		  (B) 30 trillion dollars
	 (C) 33 trillion dollars		  (D) 44 trillion dollars
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050.	� National Amient Air Quality Monitoring Programme (NAMP) yLkwMkkh ¼khíkLkwt .......... þnuh MkkiÚke 
ðÄw «Ëwr»kík yLku .......... þnuh MkkiÚke ykuAwt «Ëqr»kík Au.

	 (A) Íkh¾tz{kt ÍkrhÞk yLku r{Íkuh{{kt ÷wtø÷uE (Lunglei)

	 (B) yktÄú«Ëuþ{kt økwtxwh yLku íkr{÷Lkkzw{kt rºk[e

	 (C) W¥kh«Ëuþ{kt {uhX yLku {æÞ«Ëuþ{kt #Ëkuh

	 (D) íkr{÷Lkkzw{kt fkuEBçkíkqh yLku rn{k[÷«Ëuþ{kt rfLLkkuh (Kinnaur)

051.	� ‘Skoch State of Governance 2019’ ynuðk÷ yLkwMkkh MðkMÚÞ, rþûký Qòo yLku E-økðLkoLMk ûkuºkku{kt (Segment) 
Mkkhk «ËþoLkLku ykÄkhu .......... hkßÞ yu xku[Lkwt MÚkkLk «kÃík fhu÷ Au.

	 (A) rËÕne	 (B) hksMÚkkLk	 (C) økwshkík	 (D) {nkhk»xÙ

052.	 Lke[u ykÃku÷e {krníkeLku ykÄkhu fÞwt nu÷efkuÃxh Au íku yku¤¾ku.

	 1. yk nu÷efkuÃxhu íkuLkwt Mkki«Úk{ðkh «ËþoLk hksÃkÚk ¾kíku 26 òLÞwykhe, 2018 Lkk hkus «òMk¥kkf rËLk Ãkhuz{kt fÞwO.

	 2. �íku Hindustan Aeronautics Limited (HAL) îkhk MkuLkk {kxu çkLkkðkÞu÷ nu÷efkuÃxh Au su nw{÷k fhðk {kxuLkwt 
nu÷efkuÃxh Au.

	 3. íku ¼khík{kt MðËuþe WíÃkkËLkÚke çkLkkðu÷ «Úk{ MkþMºk nu÷efkuÃxh Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) [uíkf	 (B) Yÿ	 (C) r[¥kk	 (D) Äúwð

053.	 íkksuíkh{kt Mk{k[kh{kt ykðu÷ ‘BandiCoot’ hkuçkkux rðþu Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ Au ?

	 (A) íku ¼khíkLkwt Mkki«Úk{ Humanoid robot Au.

	 (B) íkuLkk WÃkÞkuøk s{eLkLkk Mkqû{ Ãkku»kf ík¥ðkuLkwt Míkh íkÃkkMkðk fhðk{kt ykðþu.

	 (C) yk hkuçkkux yu økxhLkk rAÿku MkkV fhðk {kxu ðÃkhkÞ Au.

	 (D) WÃkhLkk Ãkife yuf Ãký Lk®n

054.	� .......... yu Lkuxðfo Mkwhûkk «ýk÷e Au fu su Ãkqðo rLkÄkoheík Mk÷k{íke rLkÞ{kuLku ykÄkhu incoming yLku outgoing Lkuxðfo 
xÙkVefLkk rLkÞtºkýLke Ëu¾hu¾ hk¾u Au.

	 (A) Firewall	 (B) Anti-virus	 (C) VPN	 (D) HTTPS

055.	 ¼khíkLkwt MðËuþe çkLkkðxLkwt ÷ktçke Mke{kLkwt (long range) sub-sonic cruise missile yu .......... Au.
	 (A) Astra	 (B) Nirbhay	 (C) Agni	 (D) BrahMos

056.	� ykÄwrLkf çkkÞkuxufLkku÷kuS Lkk ÷eÄu WË¼ðu÷k ykLkwðtrþf heíku MkwÄkhu÷k Sðku (genetically modified organisms 
resulting from modern technology) îkhk Úkíkk Mkt¼rðík òu¾{ku Mkk{u sirðf ðirðæÞLku hûký ykÃkðk {kxuLkk 
«kuxkufku÷ yu .......... fnuðkÞ Au.

	 (A) Montreal protocol		  (B) Geneva protocol
	 (C) Cartagena protocol		  (D) Stockholm protocol

057.	 ISRO Lkk «Úk{ MðËuþe «kÞkurøkf Mkt[kh WÃkøkún Lkwt Lkk{ .......... Au.
	 (A) Aryabhata		  (B) Rohini
	 (C) INSAT - 1A		  (D) APPLE
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058.	 Mkøk¼ko yðMÚkk{kt .......... ðkÞhMkLkku [uÃk yu sL{Lkkh çkk¤fLkku microcephaly Lkwt fkhý çkLke þfu Au.
	 (A) Rota	 (B) Ebola	 (C) Zika	 (D) H1 Z1

059.	 QR code þçËyu .......... {kxu ðÃkhkÞ Au.
	 (A) Quick Response Code	 (B) Quick Repository Code
	 (C) Quick Retrieval Code	 (D) Quick Recorded Code

060.	 yheMkkÚke ytíkhLku æÞkLk{kt hkÏÞk rMkðkÞ ðMíkwLkwt «rík®çkçk nt{uþk [¥kw Ëu¾kÞ Au. yk yheMkku .......... nkuE þfu.
	 (A) Mk{ík÷		  (B) ytíkøkkuo¤
	 (C) çkrnøkkuo¤		  (D) Mk{ík÷ yÚkðk çkrnøkkuo¤

061.	� Sð Mk]rüLku ðLkMÃkríkMk]rü yLku «kýeMk]üeLkk ÃkuxksqÚk{kt ðøkeof]ík fhu÷e Au. «kýe Mk]rü çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk 
Mkk[wt LkÚke ?

	 (A) íkuyku ÃkkuíkkLkku ¾kuhkf òíku çkLkkðe þõíkk LkÚke.
	 (B) íku{k þheh{kt MkuÕÞw÷kuÍ ykðu÷w nkuÞ Au.
	 (C) íkuyku nrhíkYÔÞ (Chlorophyll) Ähkðu Au.
	 (D) íkuyku yuf søÞkyuÚke çkeS søÞkyu MÚk¤ktíkh fhe þfu Au.

062.	 Lke[uLkk Ãkife fÞwt Þwø{ yu ÞkuøÞ heíku òuzkÞu÷wt LkÚke ?
	 (A) rðxk{eLk E Lke WýÃk - yfk¤ ð]æÄíð	 (B) rðxk{eLk K Lke QýÃk - ðÄw Ãkzíkku hõíkMºkkð
	 (C) rðxk{eLk B26 Lke WýÃk - çkúuELk nu{hus	 (D) rðxk{eLk B6 Lke WýÃk - Vex (Fits)

063.	 Lke[uLkk Ãkife fE ðMíkwyu Ãkku»kf fuÂÕþÞ{Lkku Mkkhku Mºkkuík LkÚke ?
	 (A) zktøkh (Rice)		  (B) hkøke
	 (C) {÷kE fkZu÷wt ËqÄ (Skimmed Milk)	 (D) $zk

064.	 Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 1. fåALkwt hý yu Lke[kýðk¤e marsh (Ë¤Ë¤) s{eLk Au fu suLke {kxe ðÄw {kºkk{kt ûkkh Ähkðu Au.
	 2. økwshkíkLkwt Ãkqðoûkuºk yu fktÃkðk¤e {kxeLke V¤ÿwÃk s{eLk Au.
	 3. økwshkíkLkk {uËkLkku Äe{u Äe{u Ãkrù{ íkhV íku{s LkËeyku MkkÚku Ërûký Ãkrù{ rËþk íkhV Zku¤kð Lke[u ykðu Au.
	 4. �rþÞk¤kLke Éíkw{kt fåALke Ë¤Ë¤ s{eLk (Marsh of Kutch) yu Mkqfe ÚkE òÞ Au yLku íkuLkk Ãkh ûkkhLkk Ãkkík¤k 

ÃkzLkku Úkh [zu Au.
	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 y™u 4	 (C) {kºk 3 y™u 4	 (D) {kºk 1 y™u 2

065.	 økwshkíkLkk ðLk rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
	 1. ðLkLkk fw÷ rðMíkkh Ãkife 378 [ku. rf.{e. Lkku rðMíkkh økkZ støk÷ku Au.
	 2. hkßÞ yu 2194 [ku. rf.{e. Lkk ûkuºk{kt Íkzeðk¤k støk÷ku Ähkðu Au.
	 3. fw÷ ðLk rðMíkkhLkk 19% yu yríkþÞ økkZ støk÷kuLkk ðøko{kt ykðu Au.
	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) 1, 2 yLku 3	 (B) {kºk 2 y™u 3	 (C) {kºk 1 y™u 3	 (D) {kºk 1 y™u 2
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066.	 Mkkçkh{íke LkËe çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 1. MkuE (Sei), Mkehe yLku Äkr{Lke yu s{ýk rfLkkhkLke WÃkLkËeyku Au.

	 2. fzkýk zu{ yu Mkkçkh{íke LkËe Ãkh 80 rf.{e.Lkk ytíkhu ÂMÚkík Au.

	 3. ðkf÷, nhýkð, nkÚk{íke, ¾khe, ðkºkf yu zkçkk rfLkkhkLke WÃkLkËeyku Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) 1, 2 yLku 3	 (B) {kºk 2 y™u 3	 (C) {kºk 1 y™u 3	 (D) {kºk 1 y™u 2

067.	 økwshkík{kt ÂMÚkík fk¤eÞkh hk»xÙeÞ WãkLk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) Mkkihk»xÙLkk ¼k÷ ûkuºkLkku LkkLkku ¼køk yu fk¤eÞkh hk»xÙeÞ WãkLk íkhefu ½kur»kík fhðk{kt ykðu÷ Au.

	 (B) �yk WãkLkLkku {kuxk¼køkLkku rðMíkkh ík]ý¼qr{ Au su{kt Úkkuzkuf rðMíkkh økktzku çkkð¤ (Prosopsis Chilensis) Au. yk 
WãkLk ykf»kof MkðkLkk ðMkkník Au.

	 (C) yk WãkLk{kt {n¥ðLkk «kýeyku ËeÃkzku yLku ÷k÷ {kuZkðk¤wt {ktfzwt (Macaca Mulatta) Au.

	 (D) WÃkhLkk Ãkife yuf Ãký Lk®n

068.	 økwshkíkLke ykrËðkMke òrík ðMíke rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

	 (A) {kuxk¼køkLke ykrËðkMke òrík ðMíke økwshkíkLkk 48 íkk÷wfk{kt fuLÿeík Au.

	 (B) íkkÃke rsÕ÷kLkk 9 íkk÷wfk, yu MkkiÚke ðÄw ykrËòrík ðMíke fuLÿeík Au.

	 (C) WÃkhLkk (A) íkÚkk (B) çktLku

	 (D) (A) íkÚkk (B) yufÃký Lknª

069.	 ¼khíkLke ¼qøkku¤ rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. ¼khík yu yktËk{kLk yLku rLkfkuçkkh íkÚkk ÷ûkîeÃk rîÃk Mk{wnku rMkðkÞLkku 7516 rf{e. Lkku ËrhÞk rfLkkhku Ähkðu Au.

	 2. ¼khíkLke «kËurþf Mke{k yu ËrhÞk{kt ðÄw 12 Lkkuxef÷ {kE÷ MkwÄe rðMíkhu÷e Au.

	 3. W¥khÚke ËrûkýLke ytrík{ nËku MkwÄeLkwt ðkMíkrðf ytíkh 3214 rf{e. Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 2	 (B) {kºk 1 yLku 3	 (C) {kºk 2	 (D) 1, 2 yLku 3

070.	 Lke[uLkk Ãkife fÞwt Þwø{ yu ÞkuøÞ heíku òuzkÞu÷ LkÚke ?

	 (A) xkuLMk ðu÷e (Tons Valley) – W¥khk¾tz	 (B) ÷knku÷ðu÷e (Lahaul Valley) – ykMkk{

	 (C) ÃkeLk ðu÷e (Pin Valley) – rn{k[÷ «Ëuþ	 (D) Lkuykuhk ðu÷e (Neora Valley) – Ãkrù{ çktøkk¤

071.	 s{eLkLke çkkçkík{kt Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. fktÃkLke s{eLk : yk s{eLk yu W¥khLkk {uËkLkku yLku Ãkqðo rfLkkhkLkk {w¾ rºkfkuý «Ëuþ{kt rðMíkhu÷e Au.

	 2. fk¤e s{eLk : [ku{kMkkLke Éíkw ËhBÞkLk yk s{eLk{kt rðþk¤ ríkhkz WËT¼ðu Au.

	 3. hkíke s{eLk : ßÞkhu íku Hydrated MðYÃk{kt nkuÞ íÞkhu íku Ãke¤e Ëu¾kÞ Au.

	 4. Úkz¾kW s{eLk : yk s{eLk WMkkhk (Usara) s{eLk íkhefu Ãký yku¤¾kÞ Au.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 2	 (B) {kºk 1, 2 y™u 3	 (C) {kºk 2 y™u 3	 (D) 1, 2, 3 y™u 4
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072.	 ¼khíkeÞ [ku{kMkk «ýk÷e çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?
	 (A) W¥kh Ãkqðo [ku{kMkw yu MkÃxuBçkhLkk «Úk{ yXðkzeÞkÚke Ãkrù{ hksMÚkkLk íkhVÚke ÃkkAk VhðkLke þYykík fhu Au.
	 (B) Ërûký Ãkrù{e [ku{kMkw ÃkðLkku yu çku þk¾kyku{kt ðnU[kE òÞ Au. – yhçke Mk{wÿ þk¾k yLku ®nË {nkMkkøkh þk¾k
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) yuf Ãký Lk®n

073.	� Lke[uLkk Ãkife fÞk ÷ûkýku yu ¼khík{kt W»ý frxçktÄeÞ MkËkçknkh støk÷ku (Tropical evergreen forest) Lkk  
÷ûkýku Au ?

	 (A) íku økkX Aºk MkkÚkuLkk çknwMíkheÞ støk÷ku Au.
	 (B) ð]ûkku [ku¬Mk Éíkw{kt íku{Lkk Ãkýkuo ¾uhðe Lkkt¾u Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) yuf Ãký Lk®n

074.	 Lke[uLkk Ãkife fÞk Þwø{/Þwø{ku ÞkuøÞ heíku òuzkÞu÷k Au ?
	 1. fÃkkMk – 21° C Úke 30° C íkkÃk{kLk
	 2. ík{kfw – 16° C Úke 40° C íkkÃk{kLk
	 3. fkuVe – 150 Úke 200 Mku{e. ðhMkkË
	 4. [k – ðÄw {kºkk{kt MkuLÿeÞ ÃkËkÚkkuo íkÚkk ÷kun ík¥ð Ähkðíke ðLkLke s{eLk
	 (A) {kºk 1, 2 yLku 3	 (B) {kºk 2, 3 y™u 4	 (C) {kºk 1 y™u 3	 (D) 1, 2, 3 y™u 4

075.	 Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?
	 1. yLkwåAuË 14{kt «kf]ríkf LÞkÞLkku rMkØktík Au.
	 2. �r{Lkhðk r{ÕMk rðYØ ¼khík Mkt½ fuMk{kt fkÞËkLkwt þkMkLk (Rule of law) yu çktÄkhýLkk ÃkkÞkLkk {k¤¾k íkhefu 

½kur»kík fhðk{kt ykÔÞku.
	 3. ÷kufþkne{kt «íÞuf ðkux Mk{kLk {qÕÞ Ähkðu Au.
	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) 1, 2 yLku 3	 (B) {kºk 1 y™u 3	 (C) {kºk 2 y™u 3	 (D) {kºk 1 y™u 2

076.	 Vk¤ðýe rçk÷ (Appropriation Bill) ytøku Lke[uLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?
	 1. íku çksux Ëh¾kMíkku ÃkhLke Mkk{kLÞ [[ko íkÚkk yLkwËkLkLke {ktøkýeyku WÃkhLkk {íkËkLk ÃkAe Ëk¾÷ fhðk{kt ykðu Au.
	 2. �Vk¤ðýe rçk÷ (Appropriation Bill) yu MkhfkhLku ¼khíkLkk yufef]ík ¼tzku¤ (Consolidated Fund of India)

{ktÚke yLku çknkh ¾[o fhðkLke Mk¥kk ykÃku Au.
	 3. �yk rçk÷Lku ÃkMkkh fhðkLke «r¢Þk yLÞ LkkýkfeÞ rçk÷Lkk rfMMkk{kt nkuÞ Au íkuðe s Au yLku íkuÚke íku {kºk ÷kufMk¼k{kt 

hsq fhkÞ Au.
	 4. Ãkhtíkw òu MkhfkhLku ÷kufMk¼k{kt MÃkü çknw{ík Lk nkuÞ íkku MktÞwõík çkuXf yu þõÞ Au.
	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) {kºk 2 yLku 3		  (B) {kºk 1 y™u 3
	 (C) {kºk 1, 2 y™u 3		  (D) 1, 2, 3 y™u 4
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077.	� çktÄkhýeÞ (73{ku MkwÄkhku) yrÄrLkÞ{, 1992 (Constitution - Seventy Third Amendment Act, 1992) 
çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ LkÚke ?

	 (A) rsÕ÷k ykÞkusLk Mkr{ríkykuLke h[Lkk

	 (B) hkßÞ [qtxýe Ãkt[u Ãkt[kÞíkLke ík{k{ [qtxýeykuLkwt Mkt[k÷Lk fhðwt

	 (C) hkßÞ Lkkýkt ykÞkuøkLke MÚkkÃkLkk

	 (D) Ãkt[kÞíkLke ík{k{ Mkexku yu MkeÄe [qtxýe îkhk ÃkMktËøke fhkÞu÷ ÔÞÂõík îkhk ¼hðe

078.	 ¼khík{kt {tºkk÷Þ yÚkðk rð¼køkLke h[Lkk fhðkLkwt fkÞo yu .......... Lkwt Au.

	 (A) LÞkÞ íktºk		  (B) rðÄkLkMk¼k (legislature)

	 (C) PMO		  (D) fkhkuçkkhe

079.	 Lke[uLkk Ãkife fÞk {q¤¼qík nf nuX¤ Right to press Lke çkktnuÄhe (Guaranteed) yÃkkÞu÷e Au ?

	 (A) Mk{kLkíkkLkku nf		  (B) ðkýe yLku yr¼ÔÞÂõíkLkku nf

	 (C) SðLk Sððk {kxuLkku nf		 (D) WÃkhLkk Ãkife yuf Ãký Lk®n

080.	 LÞkÞk÷ÞLkk yrÄfkh çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ LkÚke ?

	 (A) LÞkÞk÷Þ yu yxfkÞíkLkku Mk{Þøkk¤ku ½xkze þfu Lk®n

	 (B) LÞkÞk÷Þ yu MkhfkhLku çktÄkhýeÞ MkwÄkhk ÷køkw fhðk {kxu Vhs Ãkkze þfu Lk®n

	 (C) LÞkÞk÷Þ yu {kºk fkÞËku fu økkiý fkÞËku ½zðk {kxu {køkoËþoLk òhe fhe þfu

	 (D) WÃkhLkk ík{k{

081.	 ¼khíkeÞ çktÄkhýLkk yLkwåAuË 18 (Article 18) nuX¤ Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt Au ?

	 (A) ÷~fhe yÚkðk þiûkrýf rðrþü ÞkuøÞíkkLkku fkuE r¾íkkçk hkßÞ îkhk yuLkkÞík fhðk{kt ykðþu Lk®n

	 (B) ¼khíkLkk fkuEÃký Lkkøkrhf yu rðËuþe hkßÞ{kt fkuEÃký r¾íkkçk Mðefkhþu Lk®n

	 (C) �fkuE Ãký ÔÞÂõík fu su ¼khíkLkku Lkkøkrhf LkÚke íku ßÞkhu hkßÞ nuX¤ LkVkLkku yÚkðk rðïkMkLkku nkuÆku Ähkðu (holds 
any office of profit or trust under the State) íÞkhu hk»xÙÃkríkLke {tsqhe rMkðkÞ rðËuþe hkßÞ ÃkkMkuÚke fkuE 
r¾íkkçk Mðefkhþu Lk®n

	 (D) WÃkhLkk ík{k{

082.	 fuLÿeÞ {tºke {tz¤ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

	 1. {tºkeyku hk»xÙÃkríkLke hkS¾wþe MkwÄe (Pleasure of the President) nkuÆku Ähkðe þfu Au.

	 2. {tºkeykuLkk Ãkøkkh yLku ¼ÚÚkkyku hk»xÙÃkrík îkhk rLkrùík fhðk{kt ykðþu.

	 3. {tºke fu su Mkíkík A {kMkLkk økk¤k ËhBÞkLk MktMkËLkku MkËMÞ Lk nkuÞ íku {tºkeÃkËu hne þfþu Lk®n.

	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

	 (A) {kºk 1 yLku 2		  (B) {kºk 2 y™u 3

	 (C) {kºk 1 y™u 3		  (D) 1, 2 y™u 3
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083.	� hkßÞ rðÄkLk Mk¼kLkk MkÇÞkuLku økuh÷kÞf XhkððkLkk {wÆu hkßÞ rðÄkLkMk¼kLkk yæÞûkLkk nkuÆk rðþuLke çkkçkík íkksuíkh{kt 
Mk{k[kh{kt níke, yk ytøku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au?

	 1. su íku hkßÞLkk hkßÞÃkk÷ yu hkßÞ rðÄkLkMk¼kLkk yæÞûkLke rLk{ýqtf fhu Au.
	 2. �ßÞkhu hkßÞ rðÄkLkMk¼kLkk yæÞûkLku íkuLkk/íkuýeLkk nkuÆk ÃkhÚke Ëqh fhðkLkku Xhkð rð[khýk nuX¤ nkuÞ íÞkhu yæÞûk, 

yu hkßÞ rðÄkLkMk¼kLkk yæÞûk MÚkkLku hne þfu Lk®n.
	 3. MkËMÞkuLku økuh÷kÞf XhkððkLkk «&™u hkßÞrðÄkLkMk¼kLkk yæÞûkLkku rLkýoÞ ytrík{ yLku çktÄLkfíkko hnuþu.
	 Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
	 (A) {kºk 1 yLku 3	 (B) {kºk 2 y™u 3	 (C) {kºk 1 y™u 2	 (D) {kºk 1

084.	� yr¾÷ ¼khíkeÞ LÞkrÞf Mkuðk (All India Judicial Service) (AIJS) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku 
MkíÞ Au ?

	 (A) AIJS Lkku ÏÞk÷ yu çktÄkhýLkk 42{k MkwÄkhýk îkhk W{uhðk{kt ykÔÞku.
	 (B) �¼khík{kt AIJS Lke h[Lkk fhðk {kxu íku hkßÞ Ãkrh»kËkuLkk Xhkð îkhk Ãkkrhík ÚkÞu÷ku nkuðku òuEyu su{kt 2/3 Úke ykuAk 

Lk®n íkuðk MkËMÞku nksh hnu÷k òuEyu yLku íku{ýu ðkuxªøk fhu÷wt nkuðwt òuEyu.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) yuf Ãký Lk®n

085.	 Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?
	 (A) fuLÿeÞ Mkíkfoíkk ykÞkuøk yu fuLÿ MkhfkhLke {wÏÞ íkÃkkMk yusLMke Au.
	 (B) yuxLkeo sLkh÷Lku Ëqh fhðkLke «r¢Þk yLku ykÄkhku çktÄkhý{kt Mk{krðü LkÚke
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) yuf Ãký Lk®n

086.	� yuf [kuh‚™e …rhr{Œe 20 ‚u{e Au. òu ykðk ƒu [kuh‚™u òuze yuf ÷tƒ[kuh‚ ƒ™kððk{kt ykðu Œku Œu ÷tƒ[kuh‚™wt 
ûkuºkV¤ fux÷wt Úkþu ?

	 (A) 40 [ku ‚u{e		  (B) 50 [ku ‚u{e
	 (C) 48 [ku ‚u{e		  (D) yk{kt™w yuf …ý ™nª

087.	 yuf Ëkuzðeh 16 rf{e/f÷kf™e Íz…u Ëkuze þfu Au. Œku Œu™u 40 {exh ÷ktƒku …w÷ …‚kh fhŒk fux÷ku ‚{Þ ÷k„þu ?
	 (A) 5 ‚ufLz		  (B) 9 ‚ufLz
	 (C) 25 ‚ufLz 		  (D) yk{kt™w yuf …ý ™nª

088.	 5 ðzu rð¼kßÞ yuðe Œ{k{ ƒu ytf™e ‚tÏÞkyku™ku ‚hðk¤ku fux÷ku Úkþu ?
	 (A) 495		  (B) 905

	 (C) 945		  (D) yk{kt™w yuf …ý ™nª

089.	� yuf ÔÞrõŒ Yk. 8,000, 4% ‚kËk ÔÞksu 2 ð»ko {kxu WAe™k ÷kðu Au ŒÚkk ŒhŒ s Œu s hf{ yLÞ ÔÞrõŒ™u 6% ‚kËk ÔÞksu 
2 ð»ko {kxu WAe™k yk…u Au. Œku Œu™u fux÷ku ðkr»kof VkÞËku Úkþu ?

	 (A) Yk. 160		  (B) Yk. 320

	 (C) Yk. 360		  (D) yk{kt™w yuf …ý ™nª
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090.	� P y™u Q yuf fk{ y™w¢{u 40 y™u 50 rËð‚{kt …wYt fhu Au. ƒtLku yuf‚kÚku 5 rËð‚ fk{ fÞko ƒkË ƒkfe™wt fk{ {kºk Q 
™u MkkU…kÞ Au, Œku ƒkfe™wt fk{ Q fux÷k rËð‚{kt …wYt fhþu ?

	 (A) 36 rËð‚		  (B) 40 rËð‚
	 (C) 45 rËð‚		  (D) yk{kt™w yuf …ý ™nª

091.	 ‚Ëe™k AuÕ÷k rËð‚u fÞku ðkh fËkr… ™ nkuE þfu ?
	 (A) ‚ku{ðkh		  (B) {t„¤ðkh
	 (C) ƒwÄðkh		  (D) þw¢ðkh

092.	 ºký ‚tÏÞkyku 4 : 5 : 8 ™k „wýku¥kh{kt Au, ŒÚkk Œu{™e ‚huhkþ 34 Au, Œku Œu …ife ‚kiÚke {kuxe ‚tÏÞk fE nþu ?
	 (A) 48		  (B) 56

	 (C) 64		  (D) yk{kt™w yuf …ý ™nª

093.	 0.44 ™u y…qýkOf MðY…u ÷¾ðk{kt ykðu Œku Œu™k ytþ y™u AuË™ku ‚hðk¤ku fux÷ku Úkþu ?
	 (A) 32		  (B) 34

	 (C) 36		  (D) 39

094.	 4913 ™wt ½™{q¤ fux÷wt Úkþu ?
	 (A) 13		  (B) 17

	 (C) 27		  (D) yk{kt™w yuf …ý ™nª

095.	 yuf ‚ktrfrŒf ¼k»kk{kt ‘COMPUTER’ ™ku ‚tfuŒ ‘RFUVQNPC’ nkuÞ Œku ‘MEDICINE’ ™ku ‚tfuŒ fÞku Úkþu ?
	 (A) EOJDEJFM		  (B) EPJEDJFM
	 (C) EOJDJEFM		  (D) EOIDJEFM

096.	� yuf Akufhk™ku …rh[Þ fhkðŒk „eŒkyu fÌkwt, “Œu {khk {k{k™k r…Œk™e yuf{kºk …wºke™ku …wºk Au”. Œku Œu Akufhku „eŒk 
‚kÚku fÞk ‚tƒtÄ Úke òuzkÞu÷ Au ?

	 (A) ¼kE	 (B) {k{k	 (C) {k{k™ku rËfhku	 (D) yk{kt™w yuf …ý ™nª

097.	� òuu fkuE rºkfkuý{kt yuf ¾qýku fkx¾qýku Au ŒÚkk Œu™e ƒu ƒkswyku™k {k… ‚h¾k Au. òu Œu™k fýo™wt {k… 6 ‚u{e nkuÞ Œku 
Œu™e yLÞ ƒkswyku™wt {k… fux÷wt nþu ?

	 (A) 3 ‚u{e	 (B) 3√2 ‚u{e	 (C) 6√2 ‚u{e	 (D) yk{kt™w yuf …ý ™nª

098.	 ™e[u™e {krnŒe™k {æÞMÚk y™u {æÞf ðå[u fux÷ku ŒVkðŒ Au ?
	 6, 21, 38, 27, 43, 52, 30, 37, 5, 75

	 (A) 1	 (B) 0.5	 (C) 0.1	 (D) yk{kt™w yuf …ý ™nª

099.	 yk…u÷e ©uýe{kt ¾qxŒe ‚tÏÞk fE nþu?
	 3, 5, 5, 19, 7, 41, 9, (?)
	 (A) 61	 (B) 71	 (C) 69	 (D) 79

100.	 hu¾k 3x – 4y = 0 ™ku yk÷u¾ ™e[u …ife fÞk ®ƒËw{ktÚke …‚kh Úkþu ?
	 (A) (3, 4)	 (B) (4, 3)	 (C) (–4, 3)	 (D) yk{kt™w yuf …ý ™nª
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PART – B
101.	 Which of the following statement(s) is/are true for the Sardar Sarovar Project (SSP)?
	 (i)   Sardar Sarovar Dam is the third highest concrete dam in India
	 (ii)  Sardar Sarovar Dam is an earthen gravity dam across river Narmada
	 (iii) �SSP comprises 30 Major Dams, 135 Medium Dams and about 3,000 Minor Dams 

along the 1,312 km length of the Narmada river.
	 (A) Only (i)		  (B) (i) and (ii)
	 (C) (i) and (iii)		  (D) (i), (ii) and (iii)

102.	� Power generated by Sardar Sarovar Hydro Electric Project (SSHEP) is shared among 
the states in the following proportions:

	 (A) Madhya Pradesh (57%), Maharashtra (27%) and Gujarat (16%)
	 (B) Gujarat (57%), Madhya Pradesh (27%) and Maharashtra (16%)
	 (C) Madhya Pradesh (57%), Maharashtra (16%), Gujarat (16%) and Rajasthan (11%)
	 (D) Gujarat (57%), Maharashtra (16%), Madhya Pradesh (16%) and Rajasthan (11%)

103.	 The Gross Storage Capacity of Sardar Sarovar Dam is
	 (A) 95 Million Cubic Meter	 (B) 950 Million Cubic Meter
	 (C) 9,500 Million Cubic Meter	 (D) 95,000 Million Cubic Meter

104.	��� Which of the following is/are true for the Narmada Main Canal of Sardar Sarovar 
Project?

	 (i)   Narmada Main Canal is a contour canal.
	 (ii)  It is the largest lined irrigation canal in the world.
	 (iii) It has a capacity to flow 40000 cusecs at its head.
	 (A) Only (i)		  (B) (i) and (ii)
	 (C) (i) and (iii)		  (D) (i), (ii) and (iii)

105.	 Which of the following is/are true for Rani ki Vav (Queen’s stepwell)?

	 (i)   It is a stepwell situated in Ahmedabad city in Gujarat state of India.

	 (ii)  It is designed as an inverted temple highlighting the sanctity of water.

	 (iii) It has been listed as one of UNESCO's World Heritage Sites since 2014.
	 (A) (i) and (iii)		  (B) (ii) and (iii)
	 (C) Only (ii)		  (D) Only (iii)

106.	 The sculptor for the Statue of Unity is
	 (A) B. V. Doshi		  (B) Jatin Das
	 (C) Ram Vanji Sutar		  (D) Anil Manibhai Naik
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107.	� Match the ‘Historical Monuments of National Importance in Gujarat’ (List-A) with their 
significant feature (List-B)

List-A List-B
(i) Lothal (v) one of 7 Wonders of Gujarat and a very old ancient 

city of Indus Valley Civilisation
(ii) Dholavira (vi) the major ancient city of the Harappan civilisation 

and one of the largest sites of Harappan in the 
Indian subcontinent

(iii) Laxmi Vilas Palace (vii) known for the best style of Indo-Saracenic Revival 
architecture

(iv) Huzoor Palace (viii) it looks as if a European palace has been 
transplanted on the soil of Porbandar

	 (A) (i)-(v), (ii)-(vi), (iii)-(vii), (iv)-(viii)	 (B) (i)-(v), (ii)-(vi), (iii)-(viii), (iv)-(vii)
	 (C) (i)-(vi), (ii)-(v), (iii)-(vii), (iv)-(viii)	 (D) (i)-(vi), (ii)-(v), (iii)-(viii), (iv)-(vii)

108.	 Which of the following is/are true for the Sidi Saiyyed Mosque?
	 (i) �The Sidi Saiyyed Mosque built in 1573 is one of the most famous mosques of 

Ahmedabad.
	 (ii) The mosque is entirely arcuated.
	 (iii) �The mosque is famous for beautifully carved ten stone latticework windows on the 

side and rear arches.
	 (iv) The latticework windows beautifully display the delicate ‘tree of life’ motif
	 (A) Only (i)		  (B) (i) and (ii)
	 (C) (i), (iii) and (iv)		  (D) (i), (ii), (iii) and (iv)

109.	 Which of the following dam is not located in Gujarat?
	 (A) Ukai Dam		  (B) Kadana Dam

	 (C) Kamleshwar Dam		 (D) Mahi Bajaj Sagar Dam

110.	� The Kalpasar Project which envisages building a 30 km dam across the Gulf of 
Khambat in India for establishing a huge fresh water coastal reservoir for irrigation, 
drinking and industrial purposes, will store the water from the rivers namely

	 (A) Narmada, Mahi, Dhadhar and Sabarmati

	 (B) Narmada, Mahi, Dhadhar and Tapi

	 (C) Narmada, Daman-Ganga, Sabarmati and Ambika

	 (D) Narmada, Vishvamitri, Rupen, Mahi.

111.	 The rock which shows great variation in water yielding capacity is ________
	 (A) Sandstone		  (B) Granite
	 (C) Coal		  (D) Marble
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112.	 The dam would become irrelevant if
	 (A) the rocks become strong
	 (B) the rocks become impermeable
	 (C) the rocks become porous
	 (D) the rocks start weathering to a certain extent.

113.	 Rocks behave as ____ masses towards operating stresses.
	 (A) inelastic	 (B) elastic	 (C) isotropic	 (D) anisotropic

114.	 Structures built on ________ will have to withstand greater risk during earthquakes.
	 (A) solid mass		  (B) loose soil
	 (C) strong rocks		  (D) unfractured land mass

115.	 To avoid shearing, dam has to be placed as far as possible from ____
	 (A) Joints	 (B) Folds	 (C) Intrusions	 (D) Faults

116.	� In a theodolite, the circular main scale is divided into degrees and each degree is 
divided into three parts. If the theodolite is to have a least count of 20", then _____ 
main scale divisions are divided into ___________ vernier scale divisions

	 (A) 19, 20	 (B) 29, 30	 (C) 49, 50	 (D) 59, 60

117.	 A metallic tape is made of
	 (A) Steel
	 (B) Invar
	 (C) a composite material of steel and brass
	 (D) cloth interwoven with metallic fibres

118.	� The area of a plot of land was found to be 1000 m2 according to the scale mentioned 
in the plan. It was also mentioned that the 20-m chain used for measuring the plot was  
1 m too long. The actual area of the plot of land is

	 (A) 1050.0	 (B) 952.4	 (C) 1102.5	 (D) 907.0

119.	 If the slope of a ground is 3°, then the gradient can be represented as
	 (A) 1:3	 (B) 1:9	 (C) 1:12	 (D) 1:19

120.	 Normal tension for a tape is defined as the pull
	 (A) applied by an average adult
	 (B) applied for standardizing the tape
	 (C) which equalizes the effect due to sag
	 (D) that equalizes the effect due to the slope
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121.	 Correction due to sag of a tape is
	 (A) always positive
	 (B) always negative
	 (C) sometimes positive and sometime negative
	 (D) dependent on the temperature

122.	� If the bearing of line AB is N87°32'00"E and that of line BC is S 65°35'20"E, then the 
deflection angle between the lines at B is

	 (A) 21°56'40"	 (B) 86°52'40"	 (C) 115°6'40"	 (D) 153°07'20"

123.	 To change the reading on the circle while measuring an angle
	 (A) Upper clamp is tightened and lower clamp is loosened
	 (B) Upper clamp is loosened and lower clamp is tightened
	 (C) Both upper and lower clamps are loosened
	 (D) Both upper and lower clamps are tightened

124.	 In the method of reiteration of measuring horizontal angles,
	 (A) the same angle is measured three times
	 (B) the same angle is measured by face-left and face-right observations
	 (C) the angle is measured and the instrument turned to close the horizon
	 (D) the angle is measured three times each using face-left and face-right observations

125.	 The latitude of a line is
	 (A) the average latitude in which the lines lie
	 (B) the projection of the line on the east-west meridian
	 (C) the projection of the line on the north-south meridian
	 (D) the projection of the line with respect to the great circle

126.	� If the latitude and departure of a line are 100 m and 45.83 m, then the length of the  
line is

	 (A) 54.17 m	 (B) 110.0 m	 (C) 145.83 m	 (D) 88.9 m

127.	� The following set of reading taken with a level: 1.565, 0.985, 1.235, 2.545, 3.455, 1.875, 
1.985, 0.865 and 1.285. If the instrument was shifted after the 2nd and the 5th reading, 
then the entries in the foresight column would be

	 (A) 0.985, 3.455 and 1.285	 (B) 0.985, 1.875 and 1.285
	 (C) 1.235, 1.985 and 1.285	 (D) 1.235, 1.985 and 0.865

128.	� A staff is held at a distance of 1000 m from a level. If the reading on the staff is  
1.565 m, the reading corrected for curvature is

	 (A) 1.487 m	 (B) 1.498 m	 (C) 1.632 m	 (D) 1.644 m
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129.	 In using the two-theodolite method for setting curves, the principle used is
	 (A) deflection angle is equal to the tangential angle for any chord to the point
	 (B) angle of intersection is the same as the angle subtended at the centre
	 (C) �deflection to any point P from the first tangent is the same as the angle between 

the long chord and the direction to P from the second tangent point
	 (D) equal chords subtend equal angles at the centre

130.	 In the case of vertical parabolic curves, the rate of change of gradient is
	 (A) always negative		  (B) always positive
	 (C) zero		  (D) constant

131.	 Geodetic Surveying is used for
	 (A) Detailing the topography for a large area
	 (B) Getting control points for horizontal control
	 (C) Finding the elevation of points precisely
	 (D) Finding the latitude and longitude of points

132.	 Triangulation is based on the principle that knowing
	 (A) three sides, the angles can be calculated precisely
	 (B) three angles, the sides can be calculated precisely
	 (C) two sides and one angle, the remaining side and angles can be determined precisely
	 (D) one side and three angles, the remaining sides can be calculated precisely

133.	 Terrestrial photogrammetry is taking photographs of
	 (A) the terrain of the earth from a moving aircraft
	 (B) the terrain of the earth from a static aircraft
	 (C) the terrain of the earth from cameras on ground
	 (D) celestial bodies from a moving aircraft

134.	 Overlap in aerial photography refers to
	 (A) The overlap of ground features due to inclination of cameras
	 (B) the overlap of ground features due to difference in elevations of objects
	 (C) the same ground features taken from two camera positions
	 (D) the blurring due to lack of focus in photographs

135.	 Parallax in aerial photographs is an error due to
	 (A) movement of camera and ground relief
	 (B) overlap in photographs
	 (C) distortion caused by camera lens
	 (D) distortion due to lack of focus
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136.	� For bridge span less than 9m, IRC Class AA and 70R loading of wheeled vehicle, the 
provision for Impact or Dynamic action (in percentage) is

	 (A) 25	 (B) 20	 (C) 12	 (D) 10

137.	 Long span bridge has length
	 (A) Between 60 m and 120 m	 (B) Between 120 m and 160 m
	 (C) More than 120 m		  (D) More than 600 m

138.	� Which of the following class of prestressed concrete bridge attribute to allow flexural 
tensile stress without any visible cracking?

	 (A) Class-4	 (B) Class-3	 (C) Class-2	 (D) Class-1

139.	 Bearings are provided in bridges to
	 (A) allow translation and rotation in bridges
	 (B) restrict translation and rotation in bridges
	 (C) transfer forces from sub-structure to super-structure
	 (D) allow displacement in vertical and horizontal directions

140.	  Which of following code is useful for bridge designing?
	 (A) IRC–6	 (B) IS: 875, Part-I	 (C) IS: 3370	 (D) IRC-38

141.	 Superfluous water refers to
	 (A) �water in the unsaturated zone in excess of hygroscopic and capillary water which 

moves over the soil under favourable drainage conditions
	 (B) �water held by surface tension in the capillary spaces and as a continuous film 

around the particles
	 (C) water held in static state with the atmospheric water vapour
	 (D) water which drains down so deep that plant roots cannot draw it.

142.	 Available moisture in soil can be computed as
	 (A) Field capacity – Permanent wilting point
	 (B) Field capacity – Readily moisture available
	 (C) Field capacity + Permanent wilting point
	 (D) Field capacity + Readily moisture available

143.	 Crop Water Use Efficiency can be defined as the ratio of
	 (A) Yield of crop to the amount of water depleted by crop in evapotranspiration
	 (B) Yield of crop to the total amount of water used in the field
	 (C) Water output to water input per yield of crop
	 (D) �Water stored in the root zone of the crops to the water lost due to the 

evapotranspiration
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144.	 Well irrigation is a type of

	 (A) Inundation irrigation	 (B) Infiltration irrigation

	 (C) Lift irrigation		  (D) Gravity irrigation

145.	 The delta of well irrigation is around _______ time(s) that from canal irrigation

	 (A) 4	 (B) 3	 (C) 1		  (D) 0.6

146.	 The volume of water resulting from a discharge of 1 cumec per day amounts to

	 (A) 86,400 m3		  (B) 8.64 m3

	 (C) 86,400 hectare-meter	 (D) 864 hectare-meter

147.	 If the moisture tension for a soil is 8 atmospheres, then the soil is at

	 (A) Field capacity		  (B) Optimum moisture content

	 (C) Permanent wilting point	 (D) Equivalent moisture

148.	� A ground water basin consists of 1 Km2 area of plains. The maximum groundwater 
fluctuation has been observed to be 1.0 m. What is the available ground water storage 
if the specific yield of the basin is 10%?

	 (A) 10000 m3	 (B) 100000 m3	 (C) 1000000 m3	 (D) 10000000 m3

149.	 Pygmy water current meter is used for stream-flow measurements

	 (A) �in shallow streams, flumes and small channels, where the velocity of water does 
not exceed 1m/sec.

	 (B) in rivers and big channels, where the velocity of water does not exceed 1m/sec.

	 (C) �in shallow streams, flumes and small channels, where the velocity of water exceeds 
1m/sec.

	 (D) in rivers and big channels, where the velocity of water exceeds 1m/sec.

150.	 The salient limitations of an unlined canal are

	 (i)   Silting of channels	 (ii)  Erosion of bed and banks

	 (iii) Seepage		  (iv) Breaches in the channel

	 (A) (i) and (ii)		  (B) (i) and (iii)

	 (C) (i), (ii) and (iii)		  (D) (i), (ii), (iii) and (iv)

151.	 The waterlogged soils are rendered infertile because of

	 (i)   Lack of aeration	 (ii) Reduced soil temperature

	 (iii) Weed growth		  (iv) Enhanced soil erosion

	 (A) Only (i)	 (B) (i) & (ii)	 (C) (iii) & (iv)	 (D) (i), (ii), (iii) & (iv)
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152.	 Garret's diagram used for the design of irrigation channels contains
	 (A) �Discharge plotted on the X-axis, slope on the primary Y-axis while water depth in 

the channel & critical velocity Vo on the secondary Y-axis
	 (B) �Discharge plotted on the X-axis, critical velocity Vo on the primary Y-axis while 

water depth in the channel & slope on the secondary Y-axis
	 (C) �Water depth plotted on the X-axis, slope on the primary Y-axis while Discharge in 

the channel & critical velocity Vo on the secondary Y-axis
	 (D) �Water depth plotted on the X-axis, critical velocity Vo on the primary Y-axis while 

Discharge in the channel & slope on the secondary Y-axis.

153.	 Kennedy found the Upper Bari Doab canals
	 (A) to be the most economical
	 (B) having the highest specific discharge
	 (C) having the highest critical velocity ratio
	 (D) to be non-silting and non-scouring

154.	 The Super Passage is a hydraulic structure
	 (A) in which the natural stream passes over the irrigation canal
	 (B) in which the irrigation canal passes over the natural stream
	 (C) which carries water from a source to a distribution point far away
	 (D) which connects two aqueducts

155.	 In a canal, a cistern element is designed on the
	 (A) upstream side of a fall to absorb the shock of the returning wave
	 (B) �upstream side of a fall to prevent the damage to the bed and sides due to undesirable 

scour
	 (C) �downstream of a fall to dissipate the kinetic energy and prevent the damage to the 

bed and sides due to undesirable scour
	 (D) downstream of a fall to divert the flow

156.	 Which of the following is/are used to reduce the silt entry into the offtaking channel?
	 (i)   King’s Vanes		  (ii) Gibb’s Groyne Wall
	 (iii) Cantiliver skimming platform	 (iv) Sluice Escape
	 (A) Only (i)		  (B) (i) and (ii)
	 (C) (i), (ii) and (iii)		  (D) (i), (ii), (iii) and (iv)

157.	 Which of the following is probably the most widely used for river training works?
	 (A) Spurs	 (B) Check dams	 (C) Aqueduct	 (D) Apron
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158.	 Coefficient of Rugosity, as defined by Lacey, is dependent on
	 (A) grade of the boundary material
	 (B) density of the boundary material
	 (C) grade and density of the boundary material
	 (D) grade, density and hydraulic mean depth of the boundary material

159.	 Silt charge is defined as
	 (A) average size of silt particles
	 (B) volume of silt particles flowing with unit volume of water
	 (C) weight of silt per unit volume of water
	 (D) weight of silt per unit discharge of water

160.	 The meander pattern of a river is developed by
	 (A) average discharge	 (B) dominant discharge
	 (C) maximum discharge	 (D) critical discharge

161.	 ____________ plays an important part in completion of the hydrological cycle
	 (A) Coriolis Force		  (B) Frictional Force
	 (C) Buoyant Force		  (D) Air-Resistance Force

162.	 The total volume of water on Earth is estimated around
	 (A) 1.386 billion km³		  (B) 13.86 billion km³
	 (C) 138.6 billion km³		  (D) 1386 billion km³

163.	 Water derived from precipitation (rain and snow) which infiltrates into ground is called
	 (A) Juvenile Water		  (B) Meteoric Water
	 (C) Connote Water		  (D) Hygroscopic Water

164.	 In all ground water exploration programmes, one of the main objectives is to locate
	 (A) Wilting Zone		  (B) Capillary Zone
	 (C) Phreatic Water Zone	 (D) Vadose Zone

165.	 Rocks like Basalt, Granite without fissures are examples of
	 (A) Aquifer	 (B) Aquitard	 (C) Aquiclude	 (D) Aquifuge

166.	 Artesian well is a well which
	 (A) does not require a pump to bring water to the surface
	 (B) requires a pump to bring water to the surface
	 (C) has the highest specific yield of water
	 (D) has the highest specific retention of water
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167.	 Which of the following is not a direct method of discharge measurement in a stream?
	 (A) Velocity area method using current meter
	 (B) Velocity area methods using floats
	 (C) Dilution method
	 (D) Slope area method

168.	 A station rating curve is a graph of
	 (A) discharge versus stage for a given point on a stream, usually at the gauging station
	 (B) velocity versus stage for a given point on a stream, usually at the gauging station
	 (C) �discharge versus velocity for a given point on a stream, usually at the gauging 	

station
	 (D) gauge height versus critical velocity of a stream, usually at the gauging station

169.	� Rivers which flow only for a short time after a rainstorm and for rest of the time (usually 
most of the time) their beds are dry are called

	 (A) Intermittent Rivers	 (B) Ephemeral Rivers
	 (C) Gaining Rivers		  (D) Losing Rivers

170.	� The pattern which involves irregular branching of tributary stream in many directions 
and at almost any angle in the drainage basin is called

	 (A) Rectangular	 (B) Angulate	 (C) Trellis	 (D) Dendritic

171.	 Standard Project Flood for the drainage area involved is the flood that
	 (A) �is sure to be equalled in magnitude once or more time in the estimated life of the 

project
	 (B) �is likely to be exceeded in magnitude only at rare occasions in the estimated life of 

the project
	 (C) �might occur under the worst meteorological and hydrological conditions in the 

estimated life of the project
	 (D) �will occur under standard meteorological conditions in the estimated life of the 

project

172.	� A flood of certain magnitude has a return period of 25 years. The probability of 
exceedance is

	 (A) 4%	 (B) 12%	 (C) 16%	 (D) 32%

173.	� The probability ‘P’ of occurrence of a flood in the next ‘n’ successive years is given by 
the equation (where p = exceedance probability)

	 (A) P = 1 / (1 – p)n	 (B) P = 1 – (1 + p)n	 (C) P = 1 – (1 – p)n	 (D) P = 1 + (1 – p)n

174.	� _____________ is used to determine the reservoir capacity required to produce a yield 
equal to the average discharge of the stream

	 (A) Mass Curve		  (B) Double Mass Curve
	 (C) Hydrograph		  (D) Hyetograph
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175.	 Muskingum’s method is connected to which of the following?
	 (A) Unit Hydrograph
	 (B) Flood routing
	 (C) Design Flood estimation
	 (D) Infiltration capacity

176.	� Which is the correct order for the given materials (samples 10 cm in height) in terms 
of their specific strength?

	 (i)   Concrete (25 MPa strength for 10 cm cube; Density 2.40 gm/cm3)

	 (ii)  Steel (250 MPa strength for 5 cm dia tube, 5 mm thickness; Density 7.85 gm/cm3)

	 (iii) Bamboo (30 MPa strength for 5 cm dia pole, 5 mm thickness; Density 0.80 gm/cm3)

	 (iv) Wood (20 MPa strength for 10 cm cube; Density 0.70 gm/cm3)

	 (A) Concrete > Steel > Bamboo > Wood

	 (B) Steel > Concrete > Wood > Bamboo

	 (C) Steel > Bamboo > Wood > Concrete

	 (D) Steel > Bamboo > Concrete > Wood

177.	� In order that no buckling occurs in a column, the equation of the neutral axis or the 
line of zero stress, where ‘e’ and ‘r’ are the eccentricities and radius of gyration of 
respective axis, is given by,

	 (A) 1 + (ex/ry
2) X + (ey/rx

2) Y	 (B) 1 + (ex/rx
2) X + (ey/ry

2) Y

	 (C) (ex/ry
2) X + (ey/rx

2) Y	 (D) (ex/rx
2) X + (ey/ry

2) Y

178.	� If a shaft is simultaneously subjected to torque T/2 and a bending moment of 2M, then 
the ratio of maximum bending stress to maximum shear stress will be

	 (A) 4M/T	 (B) 8M/T	 (C) 4T/M	 (D) 8T/M

179.	� In which of the following cases, there exists the situation of Pure Bending in some part 
of the beam or along the entire beam?

	 (i)   �A simply supported beam subjected to two equally spaced downward concentrated 
loads

	 (ii)  A simply supported beam subjected to two equally spaced opposite moments
	 (iii) A cantilever beam subjected to clockwise moment at free end
	 (iv) �An overhanging beam with both side equal overhangs subjected to different 

concentrated loads at both the free ends
	 (A) (i) and (iv)		  (B) (i), (ii) and (iv)
	 (C) (i), (ii) and (iii)		  (D) (i) and (iii)
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180.	� For a triangular cross section having horizontal base, Ratio of shear stress at mid-
height of the section to shear stress at neutral axis of the section is

	 (A) 3/4	 (B) 8/9	 (C) 9/8	 (D) 4/3

181.	� Value of Elastic Section Modulus for the given section about horizontal centroidal  
axis is

	 60 mm

60 mm

10
0 m

m

	 (A) 5000000	 (B) 2560000	 (C) 100000	 (D) 64000

182.	� If the ratio of two principal stresses is ½, what is the ratio of minimum principal stress 
to maximum shear stress?

	 (A) 1/2	 (B) 1	 (C) 2	 (D) 4

183.	� If Mohr’s circle for two dimensional stress system has zero radius, both principal 
stresses are

	 (A) of equal magnitude and of same sign
	 (B) of equal magnitude and of opposite sign
	 (C) equal to zero and shear stress is non-zero
	 (D) equal to zero and shear stress is also equal to zero

184.	� For an elastic material having Modulus of Elasticity E, Shear Modulus G and Bulk 
Modulus K, which of the following can possibly be true?

	 (A) G=K	 (B) E=K	 (C) E=G	 (D) G=2K

185.	� A long thin cylindrical shell is subjected to internal pressure. The ratio of circumferential 
stress to longitudinal stress is

	 (A) 0.5	 (B) 0.75	 (C) 1.0	 (D) 2.0

186.	� A cantilever beam of span L is subjected to uniformly varying load having value of w 
kN/m at the free end and 0 kN/m at the fixed end. The magnitude of slope of shear force 
diagram at the fixed end is ______________ the magnitude of the slope of shear force 
diagram at the free end.

	 (A) same as		  (B) less than
	 (C) w times more than	 (D) wL/2 times more than
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187.	� A propped cantilever beam of span L is subjected to Uniformly Distributed Load  
of w kN/m throughout the span. What is the distance of Point of Contraflexure from 
the Fixed end?

	 (A) 0.175L	 (B) 0.25L	 (C) 0.33L	 (D) 0.375L

188.	� A simply supported beam of span L, width B and depth D is subjected to a rolling 
concentrated load of magnitude W. The maximum flexural stress developed at the 
section L/4 distance from the end support is

	 (A) (3WL)/(4BD2)	 (B) (4WL)/(3BD2)	 (C) (9WL)/(8BD2)	 (D) (8WL)/(9BD2)

189.	� A train of four wheel loads 30 kN, 10 kN, 20 kN and 40 kN (distance between each 
sequential wheel is 1 m) is passing in the given order leading with 30 kN, from right 
to left on a simply supported girder of 10 m span. Which of these wheel loads should 
be placed at the section 2m from the left side support, to produce Maximum Bending 
Moment at that section?

	 (A) 10 kN	 (B) 20 kN	 (C) 30 kN	 (D) 40 kN

190.	� While using Clapeyron’s Theorem of Three Moments, a fixed end of a continuous 
beam is replaced by an additional span of

	 (A) infinite stiffness		  (B) zero stiffness
	 (C) infinite length		  (D) infinite moment

191.	� Number of zero force members in the truss subjected to a force as shown in the  
figure is

	
	 (A) 0	 (B) 1	 (C) 2	 (D) 3

192.	� In the moment distribution method, the distribution factor for the end span, on the 
fixed end side is

	 (A) 0	 (B) 1/4	 (C) 1/2	 (D) 1

193.	� A cantilever beam PQ of length L m and cross-section B×D mm2 is subjected to UDL of 
w kN/m throughout the span. Another cantilever beam RS (made-up of same material) 
of length 2L m and cross-section 2B×2D mm2 is subjected to same amount of UDL 
throughout the span. What is the ratio of deflection at the ‘free end’ for beam PQ to 
that of beam RS?

	 (A) 1	 (B) 8	 (C) 1/2	 (D) 1/8
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194.	� An overhanging beam, having same overhangs of length L/2 on both the sides, is 
subjected to clockwise moment M on the left side free end and anticlockwise moment 
M on the right side free end. What is the deflection at midpoint of the beam, if distance 
between the supports is L? (Take Flexural Rigidity of beam = EI)

	 (A) Zero	 (B) ML2/2EI	 (C) ML2/8EI	 (D) ML2/9√3EI

195.	 What is the Total, External and Internal indeterminacy of the structure shown below?

Hinge

	 (A) Total 1; External 2; Internal (-1)	 (B) Total 1; External 2; Internal (1)
	 (C) Total 2; External 1; Internal (1)	 (D) Total 2; External 1; Internal (-1)

196.	� Which of the following is a correct bending moment diagram of the structure shown 
below?

	

(A) 	 (B) 

(C) 	 (D) None
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197.	� What is the moment at joint F, in a case where there is no side sway and the member 
CF is along the axis of symmetry while a UDL of W kN/m is applied all along the length 
BD as shown in the figure?

A F

CB D

E

1 2 3

4

	 (A) WL3/48 EI		  (B) WL3/384 EI
	 (C) 0		  (D) None of the above

198.	 Which is the most appropriate method to analyze the structure shown below ?
P

	 (A) Slope Deflection method	 (B) Stiffness method
	 (C) Flexibility method		 (D) Strain Energy Method

199.	� The shear force diagram for a simple supported beam of span L is given in the figure. 
The maximum bending moment is

W +

- W

L

I1

I1

	 (A) WL	 (B) WL/2	 (C) Wl1	 (D) Wl1/2
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200.	 A prismatic beam is shown in the figure given below:

	 Consider the following statements:

	 (i)   The structure is unstable

	 (ii)  The bending moment is zero at support and internal hinge

	 (iii) It is a mechanism

	 (iv) It is statically indeterminate

	 Which of these statements are correct?

	 (A) i, ii and iii	 (B) i, ii, iii and iv	 (C) i and ii	 (D) iii and iv

201.	� Cables supporting roadway of a suspension bridge is designed to carry ___________

	 (A) Point load		  (B) Trapezoidal load

	 (C) Uniformly distributed load	 (D) Load as per cable profile

202.	 Which of the following criteria is not considered under Limit State of Serviceability?

	 (A) Fatigue		  (B) Vibration Limit

	 (C) Durability consideration	 (D) Fire Resistance

203.	� Which type of cross-section can attain yield moment but not the plastic moment before 
failure by plate buckling?

	 (A) Plastic section		  (B) Compact section

	 (C) Semi-compact section	 (D) Slender section

204.	� Tensile strength of single unequal angle section is calculated as per IS-800:2007 for 
two cases: 1) longer leg is connected to gusset plate, 2) shorter leg is connected to 
gusset plate.

	 Which of the strength will be same in both the cases?

	 (A) Design strength due to Rupture of Critical Section

	 (B) Design strength due to Yielding of Gross Section

	 (C) Design strength due to Block Shear

	 (D) None of the above

205.	 What is the value of Partial Safety Factor for Shop Fabricated Welds?

	 (A) 1.10	 (B) 1.20	 (C) 1.25	 (D) 1.50
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206.	� Which of the following statements are correct, with respect to wind load analysis as 
per IS:875 (Part 3)?

	 (i)   �For a given basic wind speed, the value of Risk Coefficient k1 decreases if the 
mean probable design life of structure in years is increased.

	 (ii)  �Value of factor k2 decreases, if the category of structure changes from Category 1 
to Category 4.

	 (iii) �When upwind slope is less than 3°, the value of Topography factor k3 may be  
taken as 1.

	 (A) (i) and (ii)	 (B) (ii) and (iii)	 (C) (i) and (iii)	 (D) (i), (ii) and (iii)

207.	 Of the following four sections, which section has the maximum Plastic Modulus?

	 (A) ISMB250	 (B) ISHB250	 (C) ISWB250	 (D) ISLB250

208.	� In an eccentric connection, when the axis of load is lying in the plane of bolted joint, 
the bolts are subjected to

	 (A) only shear stresses	 (B) only tensile stresses

	 (C) both tensile and shear stresses	 (D) tensile, shear and bending stresses

209.	� Due to the flexibility of the connected plates under tension, an additional force is 
induced in the bolts. This phenomenon is known as

	 (A) unbuttoning		  (B) shear lag

	 (C) Bauschinger effect	 (D) prying action

210.	� Which of the following failures of bolted joint can be avoided by providing sufficient 
edge distance?

	 (A) Bearing failure of bolt	 (B) Shear failure of bolt

	 (C) Shear failure of plate	 (D) Tensile failure of plate

211.	� Which of the following conditions is to be satisfied in Elastic Analysis as well as Plastic 
Analysis?

	 (A) Yield condition		  (B) Mechanism condition

	 (C) Equilibrium condition	 (D) Plastic moment condition

212.	� As per IS:800-2007, what is the permissible bearing pressure between the base plate 
and the support below?

	 (A) 0.40 fck	 (B) 0.45 fck	 (C) 0.50 fck	 (D) 0.60 fck
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213.	� Equal angles star section shown in the figure is designed as a compression member. 
Governing axis of the section is

	 (A) x-x	 (B) y-y	 (C) u-u	 (D) v-v

x

y

y

x

u

u

v

v

12mm

12m
m

214.	� In the case of structural steel sections (in terms of their outstanding length), the 
minimum ratio of thickness of elements in compression is specified to prevent

	 (A) Bending failure		  (B) Shear failure
	 (C) Local buckling		  (D) Tension failure

215.	� An electric pole 5m high is fixed into the foundation. It carries a wire at the top and is 
free to move sideways. The effective length of the pole is

	 (A) 3.25 m	 (B) 4 m	 (C) 5 m	 (D) 10 m

216.	 The allowable shear stress in stiffened webs of mild steel beams decreases with
	 (A) Decrease in spacing of the stiffeners
	 (B) Increase in spacing of the stiffeners
	 (C) Decreases in the effective depth
	 (D) Increase in the effective depth

217.	� In a plate girder bridge, the thickness of web is less than d/200 where d is the 
unsupported depth of web. The web plate should be provided with

	 (A) Vertical stiffeners
	 (B) Horizontal stiffeners
	 (C) End stiffeners
	 (D) Both vertical and horizontal stiffeners
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218.	 Which one of the following forces is used for the design of battens of a builtup column?
	 (A) Axial load		  (B) Twisting moment
	 (C) Vertical shear		  (D) Transverse shear

219.	 The design strength of a tension member is given by a minimum of
	 (i)   Block shear strength of end region
	 (ii)  Rupture of critical section
	 (iii) Yielding of net section
	 Which of the above statement(s) is/are correct?
	 (A) Only (i)	 (B) (i) and (ii)	 (C) (i) and (iii)	 (D) (i), (ii) and (iii)

220.	� If only a sway mechanism is possible in the frame given below, what will be the plastic 
moment Mp developed?

3m 6m

2m 2m

40kN

40kN

	 (A) 10 kNm	 (B) 20 kNm	 (C) 40 kNm	 (D) 80 kNm

221.	� In limit state design, the permissible bond stress in case of the deformed bars is more 
than that in plain bars by

	 (A) 25%	 (B)  40%	 (C) 60%	 (D)  70%

222.	� The cover of longitudinal reinforcing bar in a beam subjected to sea spray should not 
be less than which one of the following?

	 (A) 25 mm	 (B) 40 mm	 (C) 70 mm	 (D)  90 mm

223.	 Side face reinforcement is provided in a beam when the depth of web section exceeds
	 (A) 250 mm	 (B)  400 mm	 (C) 500 mm	 (D) 750 mm

224.	 Minimum shear reinforcement in beams is provided in the form of stirrups
	 (A) to resist the extra shear force due to live load
	 (B) to resist the effect of shrinkage of concrete
	 (C) to resist the principal tension
	 (D) to resist the shear cracks at the bottom of beam
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225.	 A T-beam behaves as a rectangular beam of width equal to its flange if its neutral axis

	 (A) Coincides with centroid of reinforcement

	 (B) Coincides with centroid of T section

	 (C) Remains within the flange

	 (D) Remains in the web

226.	� Which of the following statements is/are true for a natural building material like 
bamboo during an earthquake?

	 (i) �It will result in a flexible structure, however needs to be designed stiff enough to 
resist earthquake forces

	 (ii) Since it has a good specific strength (MPa/kg), the earthquake resistance is better

	 (iii) Being light in weight, it will experience lesser earthquake forces

	 (A) Only (i)	 (B) (i) and (ii)	 (C) (ii) and (iii)	 (D) (i), (ii) and (iii)

227.	 In a reinforced concrete section, as the percentage of steel increases

	 (A) the depth of neutral axis decreases

	 (B) the depth of neutral axis increases

	 (C) the lever arm increases

	 (D) both depth of the neutral axis and the lever arm decreases

228.	� If the permissible compressive and tensile stresses in a singly reinforced beam are 
20 MPa and 250 MPa respectively, and if the neutral axis depth is limited to 0.3 times 
the effective depth of the section, then the percentage area of the steel required for an 
economic section is

	 (A) 0.56%	 (B) 0.76%	 (C) 0.86%	 (D) 0.96%

229.	� Effective moment of inertia for short term deflection of a reinforced concrete section 
does not depend on

	 (A) the maximum moment under the service load

	 (B) depth of the neutral axis

	 (C) breadth of the compression face

	 (D) ultimate shrinkage strain of concrete.

230.	� The striping time for the Reinforced Concrete slab spanning less than 4.5 m and using 
fly ash as an admixture should be

	 (A) 7 days 	 (B) 10 days 	 (C) 14 days 	 (D) 21 days
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231.	 Which of the following statement(s) is/are incorrect?
	 (i) Earliest start of an activity is the early event time of the node it leaves.
	 (ii) Latest finish of an activity is the late event time of the node it enters.
	 (iii) Latest start of an activity is its latest finish minus its duration.
	 (A) Only (i)	 (B) (i) and (ii)	 (C) (ii) and (iii)	 (D) None

232.	� If an activity has its optimistic, most likely and pessimistic times as 2, 4 and 9 
respectively, then its expected time and variance are ____ and ______ respectively.

	 (A) 4.5 and 7/6	 (B) 7 and 49/36	 (C) 4.5 and 49/36	 (D) 7 and 7/6

233.	� Figure below shows the network for a particular project which consists of four 
activities.

A F

CB D

E

1 2 3

4

	 Normal time and crash time for each activity are given below:

Activity Normal time (days) Crash time (days)
1-2 3 2
2-3 4 2
2-4 5 4
3-4 7 5

	 The minimum time required for the completion of project is _________
	 (A) 9 days	 (B) 13 days	 (C) 14 days	 (D) 19 days

234.	 The minimum diameter and depth of a soak pit should be kept respectively as
	 (A) 2.0 feet and 3 feet		 (B) 2.5 feet and 4 feet
	 (C) 3.0 feet and 5 feet		 (D) 3.5 feet and 6 feet

235.	 In building, the fans are usually fitted at what height above the floor level?
	 (A) 7 feet	 (B) 8 feet	 (C) 9 feet	 (D) 10 feet

236.	� In building work, the cost for internal electrification, sanitary and water supply works 
is around.

	 (A) 10% of estimated cost of building.	 (B) 15% of estimated cost of building.
	 (C) 20% of estimated cost of building.	 (D) 25% of estimated cost of building.
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237.	� In rate analysis, for 100 cubic meter mixed mortar the sum total volume of dry ingredient 
materials may be taken as

	 (A) 115 cubic meter		  (B) 125 cubic meter
	 (C) 152 cubic meter		  (D) 160 cubic meter.

238.	  For mortgage purpose, the mortgage value of property is taken as
	 (A) 1/2 to 2/3 of the valuation or capitalized value
	 (B) 2/5 to 2/3 of the valuation or capitalized value
	 (C) 1/3 to 2/3 of the valuation or capitalized value
	 (D) 1/4 to 3/4 of the valuation or capitalized value.

239.	 Slack time refers to
	 (A) an activity
	 (B) an event
	 (C) both event and activity
	 (D) none of the above.

240.	 Site order book is used for
	 (A) recording the instructions of the executive engineer
	 (B) recording the constructions measurements
	 (C) issuing the requisition requests for materials
	 (D) maintaining the record of the ordered instruments and materials.

241.	� A metal body floats at the interface of water and oil (sp. gr. = 0.85) such that 35% of its 
volume is submerged in water and 65% in oil. The density of metal would be

	 (A) 852.5 kg/m3		  (B) 912.5 kg/m3

	 (C) 902.5 kg/m3		  (D) Cannot be determined.

242.	� A pipe carrying water tapers from cross section 0.5 m2 at A to 0.2 m2 at B. The average 
velocity at A is 2 m/s and pressure is 500 kN/m2 (gauge). If the frictional losses are 
negligible, then pressure at B, which is 5 m above the level of A, would be (assume, 
gravity acceleration as 10 m/s2 and unit weight of water as 10 kN/m3)

	 (A) 532 kN/m2	 (B) 405.5 kN/m2	 (C) 439.5 kN/m2	 (D) 388.2 kN/m2

243. A fluid field is given by, U = xyÎ + 3yzĵ – (2yz + z2)  + 3t.
	 The acceleration in z direction at point (1, 2, 4) would be
	 (A) 184 unit	 (B) 192 unit	 (C) 204 unit		  (D) zero

244.	� For laminar flow in a pipe of radius 0.9 m, the point of maximum instability would 
occur at a distance of _______ from the center of pipe cross section.

	 (A) 0.60 m	 (B) 0.15 m	 (C) 0.30 m	 (D) Cannot say
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245.	� A trapezoidal channel has a bottom width of 6 m and side slope of 1:1. The 
depth of flow is 2 m at a discharge of 24 m3/s. What would be the specific energy  
(take, g = 10 m/s2)?

	 (A) 2.61 m	 (B) 1.00 m	 (C) 2.91 m	 (D) 2.11 m

246.	� The sequent depth ratio of a hydraulic jump in a rectangular channel is 12. What would 
be the corresponding Froude number at the beginning of the jump?

	 (A) 4.42	 (B) 8.84	 (C) 3.26	 (D) 9.54

247.	 At 100oC of temperature, 3.5 atm vapour pressure of water is equivalent to
	 (A) 350.0000 kPa	 (B) 312.9815 kPa	 (C) 354.6375 kPa	 (D) 304.2590 kPa

248.	 Change in boundary layer from laminar to turbulent is directly affected by
	 (i) Roughness of plate
	 (ii) Pressure gradient
	 (iii) Intensity of turbulence
	 (iv) Velocity of flow
	 Which of the above mentioned option(s) is/are incorrect?
	 (A) (i) and (iii)	 (B) (ii) and (iv)	 (C) Only (iii)	 (D) Only (iv)

249.	 Dynamic similarity exists when the model and the prototype have the same
	 (A) Length scale ratio and time scale ratio
	 (B) Length scale ratio and velocity scale ratio
	 (C) Length scale ratio, time scale ratio and velocity scale ratio
	 (D) Length scale ratio, velocity scale ratio and force scale ratio

250.	� The Darcy law relating to mean velocity and hydraulic gradient in a porous medium is 
applicable to

	 (A) laminar regime flow only	 (B) transition regime flow only
	 (C) turbulent regime flow only	 (D) flow of all fluids in all regimes of flow

251.	 When compared to a streamlined body, a bluff body will have
	 (A) More pressure drag and more friction drag
	 (B) More pressure drag and less friction drag
	 (C) Less pressure drag and more friction drag
	 (D) Less pressure drag and less friction drag
252.	 The line of action of the buoyant force acts through the
	 (A) centroid of the volume of any floating body
	 (B) centroid of the displaced volume of fluid
	 (C) centroid of the horizontal projection of the body
	 (D) centre of gravity of any submerged body
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253.	� ______________ is an imaginary line drawn through a flowing fluid in such a way that 
the tangent to it at any point gives the direction of the velocity of flow at that point

	 (A) Vortex line	 (B) Stream line	 (C) Streak line	 (D) Path line

254.	� If the Froude number of a hydraulic jump in a horizontal rectangular channel is 4.2, 
then the jump can be classified as

	 (A) undular jump	 (B) oscillating jump	 (C) weak jump	 (D) steady jump

255.	 The pressure coefficient is the ratio of pressure forces to
	 (A) Gravity forces	 (B) Viscous forces	 (C) Inertia forces	 (D) Buoyant forces

256.	 A turbine is called as a ‘Reaction Turbine’ if at the inlet of turbine the water possesses
	 (A) Kinetic energy		  (B) Pressure energy
	 (C) Kinetic energy and Pressure energy	 (D) Kinetic energy and Potential energy

257.	 High lift multi-stage centrifugal pumps work against a head of
	 (A) <15 m	 (B) 15 – 20 m	 (C) 20 – 40 m	 (D) >40 m

258.	� If ‘V1’ is the velocity of jet at inlet and ‘u’ is the Tangential velocity of vane, for maximum 
efficiency of Pelton Wheel the condition is

	 (A) u = V1 / 4	 (B) u = V1 / 2	 (C) u = V1	 (D) 2u = V1

259.	� If the overall efficiency of a Pelton Turbine is 65% and its Mechanical efficiency is 80%, 
then its Hydraulic efficiency would be?

	 (A) 81.25%	 (B) 55.25%	 (C) 75.25%	 (D) 85.25%

260.	 In Sardar Sarovar dam, around 80% of the total power is generated using
	 (A) Francis Turbine		  (B) Kaplan Turbine
	 (C) Pelton Turbine		  (D) Gravity Turbine

261.	 Smith's test of stones is performed to find out
	 (A) the presence of soluble matter of stone
	 (B) the compressive strength of the stone
	 (C) the hardness of the stone
	 (D) the toughness of the stone

262.	� In stone masonry, the stones are placed in such a way that their natural bedding plane 
is

	 (A) parallel to the direction of pressure they carry
	 (B) normal to the direction of pressure they carry
	 (C) at 45° to the direction of pressure they carry
	 (D) at 60° to the direction of pressure they carry
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263.	 Following compounds can be used as accelerators except
	 (A) CaCl2	 (B) CaSO4	 (C) NaCl	 (D) Na2SO4

264.	 The minimum compressive strength of first class bricks should be
	 (A) 5 N/mm2	 (B) 7.5 N/mm2	 (C) 10 N/mm2	 (D) 12.5 N/mm2

265.	 Aerated concrete is produced by addition of
	 (A) copper sulphate		  (B) aluminum powder
	 (C) sodium silicate		  (D) zinc silicate

266.	 Which of the following impurities in the mixing water is destructive for concrete?
	 (A) calcium chloride		  (B) lead nitrate
	 (C) alkalies		  (D) algae

267.	� The total number of test strength of samples required to constitute an acceptable 
record for calculation of standard deviation for each grade of concrete shall not be 
less than

	 (A) 15	 (B) 21	 (C) 28	 (D) 30

268.	 Concrete mix proportioning guidelines are given by
	 (A)  IS 875(Part-1) – 1987	 (B) IS 456-2000
	 (C) IS 10262-2009		  (D) IS 800-2007

269.	� The ratio of compressive strength of fully saturated material to that of same material 
when dry is called

	 (A) Load factor		  (B) Compaction factor
	 (C) Coefficient of hardness	 (D) Coefficient of softening

270.	 Air entrainment Portland Cement
	 (i) offers great resistance to sulphate attack
	 (ii) offers great resistance to freezing and thawing
	 (iii) reduces the possibility of shrinkage and crack formation in the concrete surface
	 (iv) is suitable for mass concreting
	 (A) Only (i)		  (B) (i) and (ii)
	 (C) (i), (ii) and (iii)		  (D) (i), (ii), (iii) and (iv)

271.	 Soils which are formed by the decomposition of rocks are called as
	 (A) Alluvial soils		  (B) Lateritic soils
	 (C) Desert soils		  (D) Black Cotton soils
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272.	 Sedimentary deposits consisting of alternate thin layers of silt and clay are called as
	 (A) Dispersive clays		  (B) Expansive clays
	 (C) Clacareous clays		  (D) Varved clays

273.	 In soil, the value of which of the following can be more than 100%?
	 (i) Air Content		  (ii) Water Content
	 (iii) Void Ratio		  (iv) Porosity
	 (A) Only (i)		  (B) (i) and (ii)
	 (C) (ii) and (iii)		  (D) (ii), (iii) and (iv)

274.	� A soil has a bulk density of 20 kN/m3 and water content of 25%. The dry density of the 
soil would be

	 (A) 26.7 kN/m3	 (B) 18.0 kN/m3	 (C) 16.0 kN/m3	 (D) 15.0 kN/m3

275.	� In a soil mass, if the volume of voids is equal to the volume of solids then the values 
of porosity and void ratio respectively are

	 (A) 0.5 and 1.0	 (B) 1.0 and 0.5	 (C) 0.0 and 1.0	 (D) 0.5 and 0.0

276.	 A pycnometer is used to determine which of the following?
	 (i) Specific Gravity		  (ii) Moisture Content
	 (iii) Dry Density		  (iv) Void Ratio
	 (A) Only (i)		  (B) (i) and (ii)
	 (C) (i), (ii) and (iii)		  (D) (i), (ii), (iii) and (iv)

277.	 For a well graded soil, the value of coefficient of curvature lies between
	 (A) 1-3	 (B) 3-5	 (C) 5-7	 (D) 7-11

278.	� If ‘A’ = the maximum void ratio of the soil in the loosest condition, ‘B’ is the minimum 
void ratio of the soil in the densest condition and ‘C’ is the void ratio in the natural 
state, then the relative density is given by

	 (A) (A – C) / (A – B)		  (B) (A – B) / (A – C)
	 (C) (B – C) / (B – A )		  (D) (B – A) / (B – C )

279.	 If the permeability of a soil is 0.8 mm / sec, the type of soil is
	 (A) Gravel	 (B) Sand	 (C) Silt	 (D) Clay

280.	 Plastic limit is the water content ______
	 (A) mixed in the soil to make it plastic
	 (B) removed from the soil to make it plastic
	 (C) below which the soil stops behaving as a plastic material
	 (D) above which the soil stops behaving as a plastic material



M

[ALY]44 [Contd.

281.	 Flow index is
	 (A) �the rate at which a soil mass loses its shear strength with an increase in water 	

content
	 (B) �the rate at which a soil mass gains its shear strength with an increase in water 

content
	 (C) �the rate at which a soil mass loses its shear strength with a decrease in water 

content
	 (D) �the rate at which a soil mass gains its shear strength with a decrease in water 

content

282.	� If the liquid limit of soil is 25%, plastic limit is 15% and flow index is 12.5%, then its 
toughness index is

	 (A) 50%	 (B) 60%	 (C) 70%	 (D) 80%

283.	 In a Plasticity Chart, A-Line separates
	 (A) Clays from Silt		  (B) Clays from Sand
	 (C) Silt from Organic soils	 (D) Silt from Gravel

284.	 Which of the following soil structure is possible for cohesionless soils?
	 (i) Single grained structure	 (ii) Honey-Comb structure
	 (iii) Flocculated structure	 (iv) Dispersed structure
	 (A) Only (i)	 (B) (i) and (ii)	 (C) (ii), (iii) and (iv)	 (D) (i), (iii) and (iv)

285.	 Hydrostatic pressure on the phreatic line within a dam section
	 (A) gradually decreases
	 (B) is less than atmospheric pressure
	 (C) is equal to atmospheric pressure
	 (D) is greater than atmospheric pressure

286.	� Arrange the bearing capacities of shallow foundation in descending order (from 
highest to lowest)

	 (i) Ultimate Bearing Capacity	 (ii) Net Ultimate Bearing Capacity
	 (iii) Net Safe Bearing Capacity	 (iv) Gross Safe Bearing Capacity
	 (A) (i), (ii), (iv), (iii)		  (B) (i), (ii), (iii), (iv)
	 (C) (ii), (i), (iii), (iv)		  (D) (ii), (i), (iv), (iii)

287.	� Who made the assumption that ‘a strip footing placed on the ground surface sinks 
vertically downwards into the soil at failure’?

	 (A) Rankine	 (B) Hogentogler	 (C) Prandtl	 (D) Terzaghi
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288.	� For a sand having an internal friction of 30°, the ratio of active to passive lateral earth 
pressure will be

	 (A) 9	 (B) 1	 (C) 1/3	 (D) 1/9

289.	 Proctor test is performed on the soil for
	 (A) grain size analysis
	 (B) assessing its shear strength
	 (C) assessing its bearing capacity
	 (D) assessing its degree of compaction

290.	� In a plate load test on a sandy soil, the test plate of 60 cm × 60 cm undergoes a 
settlement of 5 mm at a pressure of 12 × 104 N/m2. What will be the expected settlement 
of 3m × 3m footing under the same pressure?

	 (A) 9 mm	 (B) 15 mm	 (C) 20 mm	 (D) 25 mm

291.	� Two footings, one circular and the other square, are founded on the surface of a purely 
cohesionless soil. The diameter of the circular footing is the same as that of the side 
of the square footing. The ratio of the ultimate bearing capacity of the square footing 
to the circular footing will be

	 (A) 0.75	 (B) 1.00	 (C) 1.33	 (D) 1.50

292.	 Standard Penetration Test is carried out on which type of soils?
	 (A) Cohesionless Soils	 (B) Medium Clays
	 (C) Gravely Soils		  (D) Very Stiff Clays

293.	� The Dilatancy Correction for the Penetration Number (N) in case of silty fine sands 
when the observed value of N exceeds 15 is (NR is the recorded value and NC is the 
corrected value)

	 (A) NC = 15 + ½ (NR + 15)	 (B) NC = 15 + ½ (NR – 15)
	 (C) NC = 15 – ½ (NR + 15)	 (D) NC = 15 – ½ (NR – 15)

294.	� A 30 cm diameter friction pile is embedded 10 m into a homogenous consolidated 
deposit. Unit adhesion developed between clay and pile shaft is 4 t/m2 and the adhesion 
factor is 0.7. If the factor of safety to be adopted is 3.0, then what would be safe load 
carrying capacity of the friction pile?

	 (A) 26.4 t	 (B) 13.3 t	 (C) 10.5 t	 (D) 8.8 t

295.	 Minimum centre to centre spacing of friction piles of diameter (D) is
	 (A) 2 D	 (B) 3 D	 (C) 4 D	 (D) 5 D

296.	� The load carrying capacity of an individual friction pile is 100 kN. What is the total load 
carrying capacity of a group of 9 such piles with a group efficiency factor of 0.8?

	 (A) 1125 kN	 (B) 900 kN	 (C) 720 kN	 (D) 680 kN
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297.	� Which of the following piles should be used when weak foundation soil is to be 
compacted?

	 (A) Sand Piles		  (B) Friction Piles
	 (C) Pedestal Piles		  (D) End bearing Piles

298.	 Pressuremeter test is performed on the site to measure which property of the soil?
	 (A) Skin Friction		  (B) Shear Modulus
	 (C) Modulus of subgrade reaction	 (D) Relative density

299.	 The soils most susceptible to liquefaction are
	 (A) Saturated dense sands
	 (B) Saturated fine and medium sands of uniform particle size
	 (C) Saturated clays of uniform size
	 (D) Saturated gravels and cobbles

300.	� Rise of water table in cohesionless soils upto ground surface reduces the net ultimate 
bearing capacity approximately by

	 (A) 10%	 (B) 25%	 (C) 50%	 (D) 75%
___________________


